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BESR-AR-EE | B3 19 12 0 7
ek % | 1000 63.2 0.0 36.8
N iz 86 26 3 57
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RHEER % | 1000 30.2 35 66.3
. H3 125 18 6 101
£
EEEBEX | o7 | 000 144 48 80.8
= = 3 141 48 5 88
BRI % | 1000 340 35 62.4
=i i 56 29 1 26
g [ERERBE | 5 000 51.8 18 46.4
TEEX YR | HBH 44 19 1 24
= % | 1000 43.2 23 545
FMAE. T HH 61 36 1 24
Bftiy—Ex%Z | % | 1000 59.0 1.6 39.3
TBHE. B H 70 4 3 63
H—EX%E % | 1000 5.7 43 90.0
£FEEY—E | 43 43 7 1 35
R pEsm % | 1000 16.3 23 814
e ¥ | 106 21 1 84
ToERX % | 1000 198 0.9 79.2
3 46 3 3 40
Toth % | 1000 65 6.5 87.0
s i 38 32 1 5
£
EEX % | 1000 84.2 26 132
. | 131 74 5 52
I i
miEx % | 1000 56.5 38 39.7
BR-AR-EE | 4 9 5 0 4
ey S 2 % | 1000 55.6 0.0 444
N L 24 11 0 13
IER S (=
AR % | 1000 458 0.0 54.2
N Ly 18 6 1 11
£ .
B BEX | o) | 1000 333 56 61.1
iz 27 19 0 8
B3R, NI % | 1000 704 0.0 29.6
£l 1% 24 14 1 9
ig [ERERBR | 7 000 58.3 42 375
THEX. M& | 3 7 7 0 0
= % | 1000 100.0 0.0 0.0
ST, B | B 9 7 0 2
Bir—ExZ | % | 1000 778 00 22.2
TBHE. B H3 2 0 0 2
H—EX%E % | 1000 00 0.0 100.0
HEREY—E | 43 4 1 0 3
R pEsm % | 1000 25.0 0.0 75.0
e 0 6 4 0 2
YoEA% % | 1000 66.7 0.0 33.3
L 4 2 0 2
Toth % | 1000 50.0 0.0 50.0
o i 70 37 3 30
i % | 1000 529 43 429
. i 151 28 1 122
1 i
BEX % | 1000 185 0.7 0.8
BR-AR-EME | HH 10 7 0 3
il SE S % | 1000 70.0 0.0 30.0
N 52 62 15 3 44
1= =
B R % | 1000 242 48 71.0
NN 54 107 12 5 90
£ .
Bl BEX | o) | 1000 112 47 84.1
i 114 29 5 80
3 BRI % | 1000 254 44 70.2
= 44 32 15 0 17
é EREREX | o | 1000 46.9 0.0 53.1
TEHEX. YR | HH 37 12 1 24
=1 % | 1000 324 2.7 64.9
MR, B HH 52 29 1 22
Bftiy—Ex% | % | 1000 55.8 1.9 42.3
BHE.HRE H3 68 4 3 61
H—ER%E % | 1000 59 44 89.7
H£EEEY—E | 43 39 6 1 32
PENET % | 1000 154 26 82.1
. | 100 17 1 82
ToEAX % | 1000 17.0 1.0 820
L 42 1 3 38
Toth % | 1000 24 7.1 90.5
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5001 [k % | 1000 23.1 26 744
500 E [ 4%k | 167 66 5 96
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15 | 1.,0000% /M 5 i % | 1000 444 0.0 55.6
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5000{& [ % 3 % | 1000 655 1.7 328
50008MLIE | K 30 16 2 12
1KAEKFE % | 1000 53.3 6.7 40.0

Ik s 5 65 56 3 6
1FELE % | 1000 86.2 46 9.2

" . 541 107 10 1 96
SOBFIFR®E | oy | 1000 9.3 09 89.7
50BMLLLE | 4%k | 126 10 7 109
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b | LO0OfE F sk % | 100.0 382 38 58.0
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5000EM L | #4EK 15 6 0 9
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1IRFELE % | 1000 60.0 0.0 400
ES HE 36 5 3 28

% | 1000 13.9 8.3 7138
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10,000 A ki % | 1000 46.1 20 52.0
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500 AL E H3 188 35 7 146
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3 1,000 AL E B 242 60 7 175
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DKEY |QXBEx |ORAT |@DKAT |G/ (74 |@thFAT |DRE-E|@XiER |OET (0—ikE (DREERF (QBEIC (@BEIC
2K |R& IR FILF— |RILF— |RRIF |RILF— |EETR |[HIRE |RLE— |E0E- | 2REE REL: |BEEL: @0t | ®#EE

e — JL¥— Bl = fitia Ao TEE [SFPESH
ast HH | 394 56 164 65 41 57 29 92 65 42 97 42 36 32 119 2
= % | 1000 14.2 416 16.5 10.4 145 74 234 16.5 10.7 246 10.7 9.1 8.1 30.2 05
i H [ 182 32 87 39 31 37 20 59 44 27 47 32 23 19 48 1
% | 1000 17.6 4738 214 17.0 203 11.0 324 242 14.8 258 176 12.6 104 264 0.5
LIS HE [ 212 24 77 26 10 20 9 33 21 15 50 10 13 13 71 1
% | 100.0 11.3 363 12.3 4.7 9.4 4.2 15.6 9.9 7.1 236 47 6.1 6.1 335 0.5

[#&E 57 E7]
DOKEY |OKB: |QAALT |@DKAT |O/1 14 |GhE#T |DRE-E|@xHNR |Othigit [0—E DRER QFREC (QFREC (@20

2K [%z IR FIILF— [ FILF— |[TRAIFR |[FILF— |[EEHIFX [HIRE (FLE— (EHQE-(2BEE (BEL: |[BEL: EmE %

e JLE¥— it = s UHAoIL TeE |$RES
a5t #3429 15 11 17 14 22 21 9 9 21 20 10 9 3 14 327
" % | 100.0 35 26 40 3.3 5.1 4.9 2.1 2.1 49 4.7 2.3 2.1 0.7 3.3 762
s ] 190 9 4 13 9 15 15 6 4 17 6 7 2 3 4 138
% | 100.0 4.7 2.1 6.8 4.7 7.9 7.9 3.2 2.1 8.9 3.2 3.7 1.1 1.6 2.1 726
LIS B 239 6 7 4 5 7 6 3 5 4 14 3 7 0 10 189
% | 100.0 25 2.9 17 2.1 2.9 25 13 2.1 1.7 5.9 13 2.9 0.0 4.2 79.1
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OKEY [OKEHR (QRALT |@KAT |O/\174 |OthFT (DRE-E|(@xH |OttiET |(O0—EE (DRER (QBREIC |GBREIC
FIE 21K (R IR FILF— |RLF— [RRIFR [RILF— |ZEIFR |BIRE [RLF— |[EpnE- | 2REE |BELE [RELE (Ol | #8EE

£— JL¥— Bl = s Y945 TENE S B &
g 1“3 69 11 46 18 10 15 7 17 20 9 15 8 10 0 13 0
% | 1000 15.9 66.7 26.1 145 217 10.1 246 29.0 13.0 217 116 145 0.0 18.8 0.0
. Hx [ 102 22 37 13 13 12 11 41 23 11 25 18 1 0 32 0
% | 100.0 216 363 12.7 12.7 11.8 10.8 402 225 10.8 245 17.6 1.0 0.0 314 0.0
BR-HR B | 43 12 4 6 2 4 6 2 6 2 6 4 0 1 0 1 0
bl S 2 % | 1000 333 50.0 16.7 333 50.0 16.7 50.0 16.7 50.0 33.3 0.0 83 0.0 8.3 0.0
s 45 26 1 6 2 1 1 1 8 0 1 3 3 1 0 14 0
% | 100.0 38 23.1 7.1 38 38 38 308 00 38 11.5 115 38 0.0 538 0.0
. H% 18 0 7 0 0 0 0 0 2 1 7 3 3 1 4 0
B, BEX % | 1000 0.0 389 0.0 0.0 0.0 0.0 0.0 11.1 5.6 389 16.7 16.7 5.6 22.2 0.0
M 3 48 3 23 7 2 6 1 4 10 4 18 5 6 3 19 0
R % | 100.0 6.3 479 14.6 42 12.5 2.1 8.3 2038 8.3 375 104 12.5 6.3 396 0.0
=} N H3 29 0 6 5 1 2 0 1 3 0 1 0 2 25 3 0
H EER. RIRX % | 1000 0.0 20.7 172 34 6.9 0.0 34 103 0.0 34 0.0 6.9 86.2 10.3 0.0
TEEX. UE | 3 19 2 10 4 3 4 1 3 4 3 6 1 8 3 4 0
= % | 100.0 10.5 52.6 211 15.8 21.1 5.3 15.8 211 15.8 316 5.3 42.1 15.8 21.1 00
TR, EM- | 45 36 7 13 13 7 10 6 8 1 7 8 4 2 0 17 0
Hiffy—EX%E | % | 1000 194 36.1 36.1 194 27.8 16.7 22.2 2.8 194 22.2 11.1 5.6 0.0 472 0.0
[EREEN -4 45 4 0 1 0 0 0 0 0 0 0 1 0 0 0 1 1
H—Ex%E % | 1000 0.0 250 0.0 0.0 0.0 0.0 0.0 0.0 0.0 25.0 0.0 0.0 0.0 25.0 25.0
£EBEY—E | 43 7 1 3 0 0 0 0 0 0 0 1 0 0 0 2 0
P E N T % | 1000 14.3 429 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14.3 0.0 0.0 0.0 286 0.0
- i 21 5 4 1 0 0 0 4 0 0 8 0 2 0 9 0
% | 100.0 238 19.0 438 0.0 0.0 0.0 19.0 0.0 0.0 38.1 0.0 9.5 0.0 429 0.0
20 i 3 0 2 0 0 1 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 66.7 00 0.0 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 333
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DOKEY [@KBEHR (QBRALT |@KAT |O/1\17F [GthBT (DEE-E|@xH |OiET |(O0—E ORER (QBEIC |BREIC
e 4 2K [#X IR FIF— [RILF— [RRIHR |RILF— |EEIHR |BIRE [RLF— |EH0E- |2RBE |BEL: |([REL: OFof | BEE

F— JL¥— i = Lagive] UHAoIL TEE |$HESR
sesp 2 32 4 21 13 8 10 6 10 10 8 9 8 9 0 6 0
% | 1000 125 65.6 406 250 31.3 18.8 313 313 250 28.1 250 28.1 0.0 18.8 0.0
B H% 74 20 28 10 11 11 8 31 21 9 21 14 1 0 20 0
% | 1000 270 378 135 14.9 149 10.8 419 284 122 284 18.9 14 0.0 27.0 0.0
BER-AR-BE | 4 5 1 4 1 4 3 2 3 1 2 1 0 0 0 1 0
o SE 2 % | 1000 200 80.0 200 80.0 60.0 400 60.0 200 400 200 0.0 0.0 0.0 200 0.0
e H# 11 1 3 2 1 0 1 4 0 1 1 1 1 0 6 0
RGBSR % | 1000 9.1 273 182 9.1 0.0 9.1 36.4 0.0 9.1 9.1 9.1 9.1 0.0 54.5 0.0
. 3k 6 0 2 0 0 0 0 0 2 1 3 1 3 0 1 0
Bk, BEX % | 1000 0.0 333 0.0 0.0 0.0 0.0 0.0 333 16.7 50.0 16.7 50.0 0.0 16.7 0.0
E hE i 19 2 14 5 2 5 1 3 7 4 7 4 4 3 8 0
% | 1000 10.5 73.7 263 105 263 5.3 15.8 36.8 21.1 36.8 21.1 214 15.8 421 0.0
£z CE 14 0 3 2 1 2 0 1 1 0 1 0 1 13 2 0
5 ERR. RIRX % | 1000 0.0 214 143 7.1 143 0.0 7.1 7.1 0.0 7.1 0.0 7.1 92.9 143 0.0
THEX. Ya | 5 7 1 6 2 2 2 0 2 2 2 2 1 4 3 0 0
= % | 1000 143 85.7 286 286 286 0.0 286 286 286 286 143 574 429 0.0 0.0
2HTEZE. EF- | 4 7 2 4 4 2 3 2 2 0 0 1 3 0 0 2 0
Bifiy—Ex%E | % | 1000 286 57.1 57.1 286 42,9 286 286 0.0 0.0 143 429 0.0 0.0 286 0.0
BAL HE 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

H—EXE % = = = = = = = = = = = = = = = =

E£EEEY—E | 43 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
pE N+ % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0
R 5 4 1 1 0 0 0 0 3 0 0 1 0 0 0 1 0
% | 1000 250 250 0.0 0.0 0.0 0.0 750 0.0 0.0 250 0.0 0.0 0.0 250 0.0
204 i 2 0 1 0 0 1 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 50.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0
g 3 37 7 25 5 2 5 1 7 10 1 6 0 1 0 7 0
% | 1000 189 676 135 54 135 2.7 189 270 27 162 0.0 2.7 0.0 189 0.0
o i 28 2 9 3 2 1 3 10 2 2 4 4 0 0 12 0
= % | 1000 7.1 32.1 10.7 7.1 36 10.7 35.7 7.1 7.1 143 14.3 0.0 0.0 42.9 0.0
BER-HR-2E | 43 7 3 2 1 0 3 0 3 1 4 3 0 1 0 0 0
R SE 2 % | 1000 42.9 286 143 0.0 429 0.0 429 143 57.1 42.9 0.0 143 0.0 0.0 0.0
EpE s i 15 0 3 0 0 1 0 4 0 0 2 2 0 0 8 0
% | 1000 0.0 200 0.0 0.0 6.7 0.0 267 0.0 0.0 13.3 13.3 0.0 0.0 53.3 0.0
. H% 12 0 5 0 0 0 0 0 0 0 4 2 0 1 3 0
Bk, BEX % | 1000 0.0 417 0.0 0.0 0.0 0.0 0.0 0.0 0.0 333 16.7 0.0 8.3 250 0.0
mEE hE H# 29 1 9 2 0 1 0 1 3 0 11 1 2 0 11 0
% 1;/%( 1 0(1.0 3.3 310 6.9 0.8 3.;1 0.8 3.;1 103 o.g 37.3 3.3 6.9 0.0 37.? o.g

- 5 3 3 2 1 12
1; B, RIRE % | 1000 0.0 20.0 20.0 0.0 0.0 0.0 0.0 13.3 0.0 0.0 0.0 6.7 80.0 6.7 0.0
TEEX. UM | #H8% 12 1 4 2 1 2 1 1 2 1 4 0 4 0 4 0
=1 % | 1000 8.3 333 16.7 83 16.7 8.3 83 16.7 83 333 0.0 333 0.0 333 0.0
2T, EF- | 4 29 5 9 9 5 7 4 6 1 7 7 1 2 0 15 0
Bifiy—Ex% | % | 1000 172 31.0 31.0 17.2 24.1 13.8 20.7 34 24.1 24.1 34 6.9 0.0 51.7 0.0
TEHE. ke EE 4 0 1 0 0 0 0 0 0 0 1 0 0 0 1 1
H—EX%E % | 1000 0.0 250 0.0 0.0 0.0 0.0 0.0 0.0 0.0 250 0.0 0.0 0.0 250 250
H£EEEY—E | 43 6 1 3 0 0 0 0 0 0 0 1 0 0 0 1 0
pE N+ % | 1000 16.7 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 16.7 0.0
I [EE 17 4 3 1 0 0 0 1 0 0 7 0 2 0 8 0
% | 1000 235 17.6 5.9 0.0 0.0 0.0 59 0.0 0.0 41.2 0.0 118 0.0 471 0.0
20 H5 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
% | 1000 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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DOKEY [@QKBER (QBRAL |@KAT |G/ (74 |@thBT (DEE-E|(@xHE |OtET |0—KE ODRER (QEFREIC |GREIC |OF0Hh

e 4 2K [#X IR FILF— |RILF— [RRAIR [RILF— |FEIR |AIE [RILEX— (EDRE-|£2BEX |BEL: [BEEL: |mE%E
F— JL¥F— i = s Ao TEE |$RESD

sesp %% 73 2 1 2 5 8 4 2 5 3 0 2 0 2 49
% | 100.0 2.7 14 2.7 6.8 11.0 55 2.7 4.1 6.8 4.1 0.0 2.7 0.0 2.7 67.1
B H% 108 3 2 4 3 6 4 1 0 6 3 5 0 1 1 86
% | 1000 2.8 19 3.7 28 5.6 3.7 09 0.0 56 2.8 4.6 0.0 09 09 796
ES-HR-EME | B 12 0 0 2 0 1 2 0 0 2 0 0 0 0 1 7
b STE 2 % | 1000 0.0 0.0 16.7 0.0 83 16.7 0.0 0.0 16.7 0.0 00 00 0.0 8.3 583
S H3 29 1 0 2 1 2 1 2 1 4 2 2 1 0 2 20
% | 1000 34 0.0 6.9 34 6.9 34 6.9 34 13.8 6.9 6.9 34 0.0 6.9 69.0
N 45 24 1 5 2 1 3 0 1 2 1 3 1 1 0 2 16
EwiR. BEX % | 100.0 42 208 8.3 4.2 12.5 0.0 42 8.3 4.2 125 4.2 42 0.0 8.3 66.7
= 3 53 3 0 1 2 0 3 1 0 0 3 0 1 0 2 44
BRI % | 1000 5.7 0.0 1.9 338 0.0 5.7 1.9 0.0 0.0 5.7 0.0 19 0.0 38 83.0
=1 PN 3 30 1 0 0 0 0 1 0 0 0 0 0 0 1 0 27
it ERR. RERE % | 100.0 33 0.0 0.0 0.0 0.0 33 0.0 0.0 0.0 0.0 00 0.0 33 0.0 90.0
THEX . Ya | 43 20 1 0 1 1 1 3 0 1 1 1 1 3 1 1 14
= % | 1000 50 0.0 50 50 50 15.0 0.0 50 50 50 50 15.0 50 5.0 700
ST, M- | B3 37 0 1 1 0 0 1 1 0 1 0 0 0 0 0 34
Bifiy—Ezx% | % | 1000 0.0 27 2.7 0.0 0.0 2.7 27 0.0 27 0.0 0.0 0.0 0.0 0.0 919
Ak B 5 7 1 0 0 0 0 0 0 0 0 2 1 0 0 1 4
H—ERE % | 100.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 286 14.3 0.0 0.0 14.3 57.1
E£EEEY—E | 43 8 1 0 1 0 0 0 0 1 0 1 0 0 0 0 5
FENEES % | 100.0 125 0.0 125 0.0 0.0 0.0 0.0 125 0.0 125 0.0 0.0 0.0 0.0 625
HopRE 0 22 0 1 0 0 1 0 1 1 0 0 0 0 0 0 19
% | 1000 0.0 45 0.0 0.0 45 0.0 45 45 0.0 0.0 0.0 0.0 0.0 0.0 864
20 H 6 1 1 1 1 0 2 0 0 1 2 0 1 0 2 2
% | 100.0 16.7 16.7 16.7 16.7 0.0 333 0.0 0.0 16.7 333 0.0 16.7 0.0 333 333
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DOKEY [@QKBEHR (QBRAL |@KAT |G/ (74 |GthBT (DEL-E|(@xHE Ot |(O0—KE ORER (QFREC |GREIC |OF0Hh
e 4 2K [#X IR FILF— |RILF— [RRAIR |RILF— |FEIR |AIrE [RLEX— [EDRE-|2BEX |BEL: [BEEL: |mE%
F— JL¥— il = Lagive] UHAoIL TEE |$HESR

sesp 2 33 1 1 1 2 4 2 2 3 3 2 0 1 0 0 22
i % | 1000 30 30 30 6.1 12.1 6.1 6.1 9.1 9.1 6.1 0.0 30 0.0 0.0 66.7
B H% 79 2 2 4 3 6 3 1 6 1 5 0 1 1 60
% | 1000 2.5 25 5.1 338 1.6 38 1.3 0.0 16 13 6.3 0.0 13 1.3 759
BER-AR-E | HH 5 0 0 2 0 1 1 0 0 2 0 0 0 0 1 1
o SE 2 % | 1000 0.0 0.0 400 0.0 200 200 0.0 0.0 400 0.0 0.0 0.0 0.0 200 200
e H# 11 0 0 1 0 1 0 1 0 3 0 1 0 0 0 7
RGBSR % | 1000 0.0 0.0 9.1 0.0 9.1 0.0 9.1 0.0 27.3 0.0 9.1 0.0 0.0 0.0 63.6
. 45 7 1 1 2 1 2 0 1 0 0 2 0 0 0 1 5
Bk, BEX % | 1000 143 14.3 286 14.3 286 0.0 143 0.0 0.0 286 0.0 0.0 0.0 143 714
= = G 19 3 0 1 2 0 3 1 0 0 1 0 0 0 0 15
IR, TR % | 1000 15.8 0.0 5.3 10.5 0.0 15.8 5.3 0.0 0.0 5.3 0.0 0.0 0.0 0.0 789
£z CE 15 1 0 0 0 0 1 0 0 0 0 0 0 1 0 12
5 ERR. RIRX % | 1000 6.7 0.0 0.0 0.0 0.0 6.7 0.0 0.0 0.0 0.0 0.0 0.0 6.7 0.0 80.0
THEX. Ya | 5 7 1 0 1 1 1 3 0 1 1 0 1 1 1 0 4
= % | 100.0 14.3 0.0 14.3 14.3 14.3 429 0.0 14.3 14.3 0.0 14.3 14.3 14.3 0.0 57.1
2HTEZE. EF- | 4 7 0 0 1 0 0 1 0 0 1 0 0 0 0 0 6
Bifiy—Ex%E | % | 1000 0.0 0.0 143 0.0 0.0 14.3 0.0 0.0 143 0.0 0.0 0.0 0.0 0.0 85.7
BAL HE 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

H—EXE % = = = = = = = = = = = = = = = =
E£EEEY—E | 43 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
pE N+ % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
R 5 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
204 i 2 0 0 0 0 0 1 0 0 1 0 0 0 0 1 1
% | 1000 0.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 50.0 50.0
g 3 40 1 0 1 3 4 2 0 0 2 1 0 1 0 2 27
% | 1000 2.5 0.0 2.5 15 10.0 50 0.0 0.0 50 25 0.0 2.5 0.0 50 67.5
o i 29 1 0 0 0 0 1 0 0 0 2 0 0 0 0 26
= % | 1000 34 0.0 0.0 0.0 0.0 34 0.0 0.0 0.0 6.9 0.0 0.0 0.0 0.0 89.7
BER-HR-2E | 43 7 0 0 0 0 0 1 0 0 0 0 0 0 0 0 6
R SE 2 % | 1000 0.0 0.0 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 85.7
EpE s G 18 1 0 1 1 1 1 1 1 1 2 1 1 0 2 13
= % | 1000 5.6 0.0 5.6 5.6 56 56 56 56 5.6 11.1 5.6 56 0.0 11.1 722
. H% 17 0 4 0 0 1 0 0 2 1 1 1 1 0 1 11
Bk, BEX % | 1000 0.0 235 0.0 0.0 5.9 0.0 0.0 118 59 5.9 5.9 5.9 0.0 5.9 64.7
mEE hE 5 34 0 0 0 0 0 0 0 0 0 2 0 1 0 2 29
3 : 1;/:;& 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.9 0.0 2.9 0.0 5.9 85.3
- E 15 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15
1; B, RIRE % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
TEEZ. WS | % 13 0 0 0 0 0 0 0 0 0 1 0 2 0 1 10
=1 % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 1.1 0.0 154 0.0 7.1 769
2T, EF- | 4 30 0 1 0 0 0 0 1 0 0 0 0 0 0 0 28
Bifiy—Ex% | % | 1000 0.0 33 0.0 0.0 0.0 0.0 33 0.0 0.0 0.0 0.0 0.0 0.0 0.0 93.3
TEHE. ke EE 7 1 0 0 0 0 0 0 0 0 2 1 0 0 1 4
H—EX%E % | 1000 143 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 286 143 0.0 0.0 143 57.1
H£EEEY—E | 43 7 1 0 1 0 0 0 0 1 0 1 0 0 0 0 4
pE N+ % | 1000 143 0.0 143 0.0 0.0 0.0 0.0 14.3 0.0 143 0.0 0.0 0.0 0.0 57.1
I [EE 18 0 1 0 0 1 0 1 1 0 0 0 0 0 0 15
% | 1000 0.0 5.6 0.0 0.0 56 0.0 56 5.6 0.0 0.0 0.0 0.0 0.0 0.0 83.3
20 H5 4 1 1 1 1 0 1 0 0 0 2 0 1 0 1 1
% | 1000 250 25.0 250 25.0 0.0 25.0 0.0 0.0 0.0 50.0 0.0 250 0.0 250 250




Gyl

(RE5E]

DKES [@KBX (QBRAT |@DKAT |@1(44 |OHBAT (QRLE-E|(@XiER |OthigiT |0—#BFE OBER (QBHEIC |QEEIC
Crl = =X E S IR | RALF— [RILF— [RRIFR |[RILF— |EEIR |BIRE |[RILE— (EpLE-|2RE% |BEELE: [BEELE: (OFof | BEE
*— JLE¥— il = g Ao TEE |SHESR

S0ME ISk i 10 3 1 0 0 0 0 0 0 0 6 0 4 0 2 0
% | 1000 300 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 60.0 0.0 400 0.0 200 0.0
50BMMLLE | #HE 10 2 4 0 0 1 0 1 1 1 2 0 0 1 2 0
100{E M % | 1000 200 40.0 0.0 0.0 10.0 0.0 10.0 10.0 10.0 200 0.0 0.0 10.0 200 0.0
100fBAL L | 4% 90 13 31 10 5 10 6 15 5 5 24 4 3 5 32 0
5001& [k i % | 1000 144 344 11.1 5.6 11.1 6.7 16.7 5.6 56 26.7 44 33 5.6 356 0.0
5008 LI E | %K 66 4 24 5 2 6 1 9 6 3 14 3 3 9 23 0
& 1,000 M ki % | 1000 6.1 36.4 1.6 30 9.1 15 136 9.1 45 21.2 45 45 13.6 348 0.0
&t |1.000EAULE | #3k 120 14 54 24 15 19 6 33 19 13 23 14 10 12 26 2
5.0001% & i# % | 1000 11.7 450 200 125 158 50 2715 158 10.8 19.2 11.7 8.3 10.0 21.7 1.7
5000BEMULE | 4% 22 6 9 5 5 6 5 5 4 3 6 1 0 0 9 0
13k [k % | 1000 273 409 22.7 227 271.3 227 22.7 18.2 136 273 45 0.0 0.0 409 0.0
19K BLE [EE 71 14 39 19 14 15 11 27 29 17 22 19 16 5 24 0
% | 1000 19.7 54.9 2638 19.7 211 155 380 408 239 310 268 225 70 338 0.0
EEE (i 5 0 2 2 0 0 0 2 1 0 0 1 0 0 1 0
e % | 1000 0.0 40.0 400 0.0 0.0 0.0 40.0 20.0 0.0 0.0 20.0 0.0 0.0 20.0 0.0
SO 1'-*:/(;%1 B 0 0 B 0 i 0 B 0 i 0 B 0 B 0 i 0 B 0 i 0 } 0 i 0 ) 0 ) 0 i 0
50BMAMLE | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

100f8F%#H | % | - = = = = B E - E - E - - - -
100fEMUE | &% 16 2 9 2 1 3 2 3 0 1 3 1 0 1 6 0
50018 [ %k % | 1000 125 56.3 125 6.3 18.8 125 18.8 0.0 6.3 188 6.3 0.0 6.3 375 0.0
£ soofEmUE | #% 16 1 4 0 0 2 0 1 2 0 2 1 1 5 6 0
15 |1,00018 [ %k 5 % | 1000 6.3 250 0.0 0.0 125 00 6.3 125 0.0 125 6.3 6.3 313 375 0.0
10008 LLE | K 78 12 37 19 12 14 4 27 14 9 17 11 9 10 12 1
5.0001& [ 5k i % | 1000 154 474 244 154 179 5.1 346 17.9 115 2138 14.1 115 12.8 154 1.3
5000 BMLLL | 43k 16 5 6 3 4 5 3 5 3 2 5 1 0 0 5 0
1IR3 % | 1000 313 375 188 250 31.3 18.8 313 1838 125 313 6.3 0.0 0.0 31.3 0.0
13KELLE H3 56 12 31 15 14 13 11 23 25 15 20 18 13 3 19 0
% | 1000 214 55.4 2638 250 23.2 19.6 411 44.6 26.8 35.7 32.1 23.2 54 33.9 0.0
SOfE M i 10 3 1 0 0 0 0 0 0 0 6 0 4 0 2 0
% | 1000 300 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 60.0 0.0 400 0.0 200 0.0
50BMMLLE | K 10 2 4 0 0 1 0 1 1 1 2 0 0 1 2 0
100{E M %k % | 1000 20.0 40.0 0.0 0.0 10.0 0.0 10.0 10.0 10.0 20.0 0.0 0.0 10.0 20.0 0.0
100fBALLE | %% 74 11 22 8 4 7 4 12 5 4 21 3 3 4 26 0
50018 [ % i % | 1000 149 297 108 54 9.5 54 16.2 6.8 54 284 4.1 4.1 54 35.1 0.0
3 500 AL E | K 50 3 20 5 2 4 1 8 4 3 12 2 2 4 17 0
b [L.000fE A % | 1000 6.0 40.0 10.0 40 8.0 20 16.0 8.0 6.0 240 40 40 8.0 340 0.0
is 1000 E | ##K 42 2 17 5 3 5 2 6 5 4 6 3 1 2 14 1
5.0001& [ 5k i % | 1000 48 405 119 7.1 119 48 143 119 95 143 7.1 24 48 333 24
5000EM L | 3k 6 1 3 2 1 1 2 0 1 1 1 0 0 0 4 0
1JkEAKRT % | 1000 16.7 50.0 333 16.7 16.7 333 0.0 16.7 16.7 16.7 0.0 0.0 0.0 66.7 0.0
gk H 15 2 8 4 0 2 0 4 4 2 2 1 3 2 5 0
1ML % | 1000 133 53.3 26.7 0.0 133 0.0 26.7 26.7 133 133 6.7 200 13.3 33.3 0.0
wE 5 5 0 2 2 0 0 0 2 1 0 0 1 0 0 1 0
e % | 1000 0.0 400 400 0.0 0.0 0.0 400 200 0.0 0.0 200 0.0 0.0 200 0.0
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DKES [@QKBX (QBRNT |@DKAT |14 |OHBAT (QRLE-E(@XiER |OthisiT |O0—#RE (DBRER OQEBEIC |QBREBIC |@F0f
LRl =X NN E S8 IR |RILE— [RLF— [RRIR |RILF— |EEIR |[EIRE [RLFE— |EP0E- |2REE (BREL: |RELE EEE
r— *— JLE¥— il = g Ao TEE |SHESR

= . 44 11 0 1 0 0 0 0 1 1 0 0 0 0 0 0 9
SORFIRE % | 1000 0.0 9.1 0.0 0.0 0.0 0.0 9.1 9.1 0.0 0.0 0.0 0.0 0.0 0.0 81.8
50BMMLLE | #HE 17 1 1 1 1 1 1 0 1 1 4 2 1 0 3 9
100{E M % | 1000 5.9 5.9 5.9 5.9 5.9 5.9 0.0 5.9 59 235 11.8 5.9 0.0 176 52.9
100fBAL L | 4% 100 2 1 1 0 0 0 0 1 1 4 0 2 1 3 87
5001& [k i % | 1000 20 10 10 0.0 0.0 0.0 0.0 1.0 1.0 40 0.0 20 1.0 30 87.0
5008 LI E | %K 71 3 2 3 1 4 1 1 0 1 3 0 2 0 1 55
& 1,000 M ki % | 1000 42 28 42 14 5.6 14 14 0.0 14 42 0.0 2.8 0.0 14 715
EH|1.000EMULE |3k 124 3 2 1 3 5 7 3 5 9 3 2 3 0 2 98
5.0001% & i# % | 1000 24 16 038 24 40 5.6 24 40 73 24 16 24 0.0 16 790
5000BEMULE | 4% 24 0 0 1 1 0 1 0 0 3 0 1 0 0 3 16
13k [k % | 1000 0.0 0.0 42 42 0.0 42 0.0 0.0 125 0.0 42 0.0 0.0 125 66.7
9k O [ 3k 74 6 3 10 8 12 11 4 1 6 4 5 1 2 1 49
TRAEL % | 1000 8.1 4.1 135 10.8 162 14.9 54 14 8.1 54 6.8 14 2.7 14 66.2
EEE (i 8 0 1 0 0 0 0 0 0 0 2 0 0 0 1 4
e % | 1000 0.0 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 25.0 0.0 0.0 0.0 125 50.0
SO 1'-*:/(;%1 B 0 i 0 B 0 i 0 B 0 i 0 B 0 B 0 0 B 0 i 0 } 0 i 0 ) 0 ) 0 i 0
50BMAMLE | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

100fEMEH | % | - = = = = = = = E - E - B E -
100fEMUE | &% 17 0 0 0 0 0 0 0 0 0 0 0 0 1 0 16
50018 [ %k % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.9 0.0 94.1
£ soofEmUE | #% 16 1 0 2 0 2 0 0 0 0 1 0 0 0 0 13
15 |1,00018 [ %k 5 % | 1000 6.3 0.0 125 0.0 125 00 0.0 0.0 0.0 6.3 0.0 0.0 0.0 0.0 81.3
10008 LLE | K 80 3 1 1 1 3 6 3 4 9 2 2 2 0 1 60
5.0001& [ 5k i % | 1000 38 1.3 1.3 1.3 338 15 338 50 11.3 2.5 25 2.5 0.0 1.3 75.0
5000 BMLLL | 43k 18 0 0 1 1 0 1 0 0 3 0 1 0 0 2 11
1IR3 % | 1000 0.0 0.0 5.6 5.6 0.0 5.6 0.0 0.0 16.7 0.0 5.6 0.0 0.0 11.1 61.1
gk i 1 1“5 59 5 3 9 7 10 8 3 0 5 3 4 0 2 1 38
1ML % | 1000 8.5 5.1 153 11.9 16.9 13.6 5.1 0.0 85 5.1 6.8 0.0 34 1.7 64.4
N . 2 11 0 1 0 0 0 0 1 1 0 0 0 0 0 0 9
SOEFIRE % | 1000 0.0 9.1 0.0 0.0 0.0 0.0 9.1 9.1 0.0 0.0 0.0 0.0 0.0 0.0 81.8
50BMMLLE | K 17 1 1 1 1 1 1 0 1 1 4 2 1 0 3 9
100{E Mk 3 % | 1000 5.9 5.9 59 5.9 59 59 0.0 59 5.9 235 11.8 5.9 0.0 17.6 52.9
100fBALLE | %% 83 2 1 1 0 0 0 0 1 1 4 0 2 0 3 71
50018 [ % i % | 1000 24 1.2 1.2 0.0 0.0 0.0 0.0 12 1.2 48 0.0 24 0.0 36 85.5
3 500 AL E | K 55 2 2 1 1 2 1 1 0 1 2 0 2 0 1 42
b [L.000fE A % | 1000 3.6 3.6 18 18 3.6 1.8 18 0.0 18 36 0.0 3.6 0.0 18 764
is 1000 E | ##K 44 0 1 0 2 2 1 0 1 0 1 0 1 0 1 38
5.0001& [ 5k i % | 1000 0.0 23 0.0 45 45 2.3 0.0 2.3 0.0 2.3 0.0 2.3 0.0 23 86.4
5000EM L | 3k 6 0 0 0 0 0 0 0 0 0 0 0 0 0 1 5
1Jk A % | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 83.3
gk H 15 1 0 1 1 2 3 1 1 1 1 1 1 0 0 11
1ML % | 1000 6.7 0.0 6.7 6.7 133 200 6.7 6.7 6.7 6.7 6.7 6.7 0.0 0.0 733
wE 5 8 0 1 0 0 0 0 0 0 0 2 0 0 0 1 4
e % | 1000 0.0 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 250 0.0 0.0 0.0 125 50.0
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OKEY (QXBE (ORI |@KAT |B/11F4 (BT |DRE-E|@XRHR |OthigiT [0—#FE DREFEFR OQREIC (GREC
e 2 B Hl 2K | =X )L FIF— [RILF— [RRIHR |RILF— |EEIHR |BIRE [RLF— |EH0E- |2REE |BEL: ([REL: OFoft | BEE

5 F— JL¥F— i = s Ao TEE |$RESR
. % 9 0 3 0 0 0 0 1 1 1 1 0 0 0 4 0
S00AR % | 1000 0.0 333 0.0 0.0 0.0 0.0 11.1 11.1 11.1 11.1 0.0 0.0 0.0 444 0.0
500 AL E H5 47 8 20 6 2 7 1 10 7 4 14 1 3 3 14 0
750 A i % | 1000 17.0 426 12.8 43 149 2.1 21.3 14.9 85 298 2.1 6.4 6.4 29.8 0.0
750 AL E H# 36 2 14 5 2 4 1 6 1 0 9 0 2 4 12 0
1,000 A K % | 1000 5.6 389 139 5.6 11.1 28 16.7 2.8 0.0 250 0.0 5.6 11.1 333 0.0
1,000 A 2L E H5 88 13 36 10 4 14 6 16 10 5 21 8 7 4 26 1
& | 2000 A% % | 1000 148 40.9 114 45 15.9 6.8 18.2 114 5.7 239 9.1 8.0 45 295 1.1
| 2000ALLE 1“3 96 12 37 18 12 12 6 18 14 14 24 9 10 13 27 0
5000 A ki % | 1000 125 385 188 125 125 6.3 18.8 146 14.6 250 94 104 135 28.1 0.0
5000 A L1 E i 47 8 22 13 10 12 6 16 11 7 9 9 7 4 14 0
10,000 A i % | 1000 17.0 46.8 271 213 255 12.8 340 234 149 19.1 19.1 149 85 298 0.0
. %k 67 13 30 13 11 8 9 24 21 11 19 15 7 4 21 1
10000 A 2LE % | 1000 194 448 194 16.4 119 134 35.8 313 16.4 284 224 104 6.0 31.3 15
wE H5 4 0 2 0 0 0 0 1 0 0 0 0 0 0 1 0
e % | 1000 0.0 50.0 0.0 0.0 0.0 0.0 250 0.0 0.0 0.0 0.0 0.0 0.0 250 0.0
: HH 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
SO0 ARG % | 1000 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500 AL E 45 12 2 6 1 1 2 0 4 1 2 3 1 1 2 4 0
750 A% i % | 1000 16.7 50.0 8.3 83 16.7 0.0 333 8.3 16.7 250 8.3 8.3 16.7 333 0.0
750 AL H5 9 0 7 1 1 3 1 0 0 0 2 0 0 1 2 0
1,000 A i % | 1000 0.0 778 11.1 11.1 33.3 11.1 0.0 0.0 0.0 22.2 0.0 0.0 11.1 22.2 0.0
1,000 AL E H3 28 4 14 5 2 8 3 8 6 3 6 3 3 2 7 1
£ 2000 A% % | 1000 143 50.0 179 7.1 286 10.7 286 214 10.7 214 10.7 10.7 7.1 250 36
5| 2000ALLE H5 50 7 20 11 8 6 3 12 11 7 11 6 8 10 11 0
5000 A K5 % | 100.0 14.0 40.0 220 16.0 12.0 6.0 240 220 14.0 220 12.0 16.0 200 220 0.0
5,000 AL E 1“3 27 7 12 10 8 10 5 12 7 5 7 8 5 3 8 0
10,000 A ki % | 1000 259 44.4 370 296 37.0 185 444 259 185 259 296 185 11.1 29.6 0.0
R H-#% 54 12 26 11 11 8 8 23 19 10 18 14 6 1 16 0
10000 A 2LE % | 1000 222 481 204 204 148 14.8 426 352 185 333 259 11.1 19 296 0.0
EEES i 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
e % | 1000 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. H2 8 0 2 0 0 0 0 1 1 1 1 0 0 0 4 0
S00A R % | 1000 0.0 250 0.0 0.0 0.0 0.0 125 125 125 125 0.0 0.0 0.0 50.0 0.0
500 AL E H% 35 6 14 5 1 5 1 6 6 2 11 0 2 1 10 0
750 A ki % | 1000 17.1 40.0 143 29 143 2.9 17.1 17.1 5.7 314 0.0 5.7 29 286 0.0
750 AL E 3 27 2 7 4 1 1 0 6 1 0 7 0 2 3 10 0
1,000 A K38 % | 1000 14 259 148 3.7 3.7 0.0 222 3.7 0.0 259 0.0 74 11.1 37.0 0.0
% 1,000 A4 E i 60 9 22 5 2 6 3 8 4 2 15 5 4 2 19 0
b | 2000 Ak % | 1000 15.0 36.7 8.3 33 10.0 50 13.3 6.7 3.3 250 8.3 6.7 33 317 0.0
iz 2000 AL E H3 46 5 17 7 4 6 3 6 3 7 13 3 2 3 16 0
5000 A ki % | 1000 109 37.0 152 8.7 13.0 6.5 130 6.5 152 283 6.5 43 6.5 348 0.0
5,000 A LLE H5 20 1 10 3 2 2 1 4 4 2 2 1 2 1 6 0
10,000 A K% % | 100.0 50 50.0 15.0 10.0 10.0 50 200 200 10.0 10.0 5.0 10.0 5.0 300 0.0
R 4% 13 1 4 2 0 0 1 1 2 1 1 1 1 3 5 1
10000 A 2LE % | 1000 1.7 308 154 0.0 0.0 1.1 7.1 154 7.1 1.7 7.1 1.7 23.1 385 7.1
mEE 8 3 0 1 0 0 0 0 1 0 0 0 0 0 0 1 0
e % | 1000 0.0 333 0.0 0.0 0.0 0.0 333 0.0 0.0 0.0 0.0 0.0 0.0 333 0.0
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OKEY [@KEHR (QBRAT |@KAT |G/N174 |OFT (DRE-E|(@XHA (Ot |0—fE ORER OQREC |GREIC |OFT0H

HEEHR 2K [#X IR FILF— |RILF— [RRAIR |RILF— |FEIR |AIrE [RLE— ([EDRE-|£2BEX |BEL: [BEEL: \mE%E
" F— LE¥— it = {48 YHAHIL THE |[SRELS

. % 11 0 0 0 0 0 0 0 0 0 1 0 0 0 1 9
S00AR % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.1 0.0 0.0 0.0 9.1 81.8
500 AL E H5 54 0 0 0 0 0 1 1 0 1 1 1 1 0 5 45
750 A i % | 1000 0.0 0.0 0.0 0.0 0.0 19 1.9 0.0 1.9 19 19 1.9 0.0 9.3 833
750 AL E H# 39 0 0 0 0 1 2 0 1 2 3 1 1 0 1 33
1,000 A K % | 1000 0.0 0.0 0.0 0.0 26 5.1 0.0 2.6 5.1 1.7 26 2.6 0.0 26 84.6
1,000 A4 L H5 96 4 3 6 5 5 4 0 3 2 5 0 4 2 3 71
& | 2000 A% % | 1000 42 3.1 6.3 5.2 5.2 42 0.0 3.1 2.1 5.2 0.0 42 2.1 3.1 740
| 2000ALLE HE | 102 7 3 2 3 7 3 4 4 6 6 3 3 0 2 75
5000 A ki % | 1000 6.9 29 20 29 6.9 2.9 39 3.9 59 5.9 29 2.9 0.0 20 735
5000 A LLE i 49 3 2 3 2 2 6 3 1 5 0 0 0 0 0 36
10,000 A 5 % | 100.0 6.1 4.1 6.1 4.1 4.1 12.2 6.1 20 102 0.0 0.0 0.0 0.0 0.0 735
. %k 72 1 2 6 4 7 5 1 0 5 3 5 0 1 2 54
10000 A 2LE % | 1000 14 28 83 5.6 9.7 6.9 14 0.0 6.9 42 6.9 0.0 14 238 750
wE % 6 0 1 0 0 0 0 0 0 0 1 0 0 0 0 4
e % | 1000 0.0 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 0.0 66.7
: HH 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
SO0 ARG % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
500 A LA E 45 12 0 0 0 0 0 1 0 0 0 0 1 1 0 0 11
750 A% i % | 1000 0.0 0.0 0.0 0.0 0.0 8.3 0.0 0.0 0.0 0.0 8.3 8.3 0.0 0.0 91.7
750 AL H5 9 0 0 0 0 0 2 0 0 1 0 0 0 0 1 7
1,000 A i % | 1000 0.0 0.0 0.0 0.0 0.0 22.2 0.0 0.0 11.1 0.0 0.0 0.0 0.0 11.1 778
1,000 AL E 4% 29 1 0 3 1 2 2 0 0 1 0 0 0 2 0 23
£ 2000 A% % | 1000 34 0.0 103 34 6.9 6.9 0.0 0.0 34 0.0 0.0 0.0 6.9 0.0 793
5| 2000ALLE H5 51 4 1 1 2 5 1 2 3 5 4 1 1 0 1 35
5000 A K % | 1000 78 20 20 3.9 98 20 3.9 59 9.8 78 20 20 0.0 20 68.6
5,000 AL E 1“3 28 3 1 3 2 1 4 3 1 5 0 0 0 0 0 18
10,000 A ki % | 1000 10.7 3.6 10.7 7.1 36 14.3 10.7 3.6 179 0.0 0.0 0.0 0.0 0.0 64.3
R H-#% 59 1 2 6 4 7 5 1 0 5 2 5 0 1 2 42
10000 A 2LE % | 100.0 1.7 34 10.2 6.8 119 85 1.7 0.0 85 34 85 0.0 17 34 712
EEES i 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
. H2 10 0 0 0 0 0 0 0 0 0 1 0 0 0 1 8
S00A R % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0 0.0 0.0 0.0 10.0 80.0
500 ALl E H% 42 0 0 0 0 0 0 1 0 1 1 0 0 0 5 34
750 A ki % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 24 0.0 24 24 0.0 0.0 0.0 119 81.0
750 AL E 3 30 0 0 0 0 1 0 0 1 1 3 1 1 0 0 26
1,000 A K38 % | 1000 0.0 0.0 0.0 0.0 33 0.0 0.0 33 33 10.0 33 33 0.0 0.0 86.7
% 1,000 A4 E i 67 3 3 3 4 3 2 0 3 1 5 0 4 0 3 48
b | 2000 Ak % | 1000 45 45 45 6.0 45 30 0.0 45 15 15 0.0 6.0 0.0 45 716
iz 2000 AL E 45 51 3 2 1 1 2 2 2 1 1 2 2 2 0 1 40
5000 A ki % | 1000 5.9 39 20 20 39 39 39 20 20 3.9 39 3.9 0.0 20 784
5,000 A LLE H5 21 0 1 0 0 1 2 0 0 0 0 0 0 0 0 18
10,000 A k2% % | 1000 0.0 48 0.0 0.0 438 9.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 85.7
R 4% 13 0 0 0 0 0 0 0 0 0 1 0 0 0 0 12
10000 A 2LE % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 0.0 0.0 0.0 92.3
mEE 5 5 0 1 0 0 0 0 0 0 0 1 0 0 0 0 3
e % | 1000 0.0 200 0.0 0.0 0.0 0.0 0.0 0.0 0.0 200 0.0 0.0 0.0 0.0 60.0
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24 |DEA~FEREILCLS | DRI OBREIERN o5 e mpn <L
a5t | 429 143 29 257
mE % | 1000 333 6.8 599
= HH 190 90 21 79
L % | 1000 474 11.1 41.6
= ) 239 53 8 178
el % | 1000 222 33 745
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QBN~DEERHAETIRET

(&R 2K | OBNA~BEERMALTLS LT QFEREBHLTLVEL
5 i 73 19 3 51
&R % | 1000 26.0 4.4 69.9
. | 108 67 9 32
UN--4
RiER % | 1000 62.0 8.3 29.6
BR-AX-BME | HH 12 6 2 4
AP SE 3 % | 1000 50.0 16.7 333
b H3 29 5 2 22
[E SR T (=
B R % | 1000 17.2 6.9 759
e sa 23 24 4 2 18
B BEX | o | 1000 167 83 75.0
= = 1“5 53 13 2 38
IR, TR % | 1000 245 38 71.7
P
= 3 30 6 0 24
g [EREREE | 07 1000 20.0 0.0 80.0
TEEX. YR | B 20 7 2 11
1 % | 1000 35.0 10.0 55.0
EHTIE. EM | 5 37 15 4 18
Bffir—Ex%Z | % | 1000 405 10.8 486
BiAE. B HH# 7 0 0 7
Hy—ERE % | 1000 0.0 0.0 100.0
H£EEEY—F | 4% 8 0 0 8
RE o % | 1000 0.0 0.0 100.0
. 8 22 1 1 20
YoEAR % | 1000 45 45 90.9
H5 6 0 2 4
Toth % | 1000 0.0 333 66.7
5 H5 33 13 3 17
£
EER % | 1000 39.4 9.1 515
. B3 79 49 8 22
UN-3
BiER % | 1000 62.0 10.1 2738
BR-AR-EE | 43 5 3 2 0
AP SCE 3 % | 1000 60.0 400 0.0
e e = 11 3 2 6
B R % | 1000 273 18.2 545
s H5 7 2 1 4
B BEX | o | 1000 286 143 57.1
= = L~ 19 10 2 7
Bz, TR % | 1000 52.6 105 36.8
53 X 15 1 0 14
g |[ERRRRE | | 00 6.7 00 933
TEEX. YR | B 7 4 0 3
1 % | 1000 57.4 0.0 429
EHTZE. B | 43 7 5 1 1
Bifiy—EX%¥E | % | 1000 714 14.3 143
BRE. B B 0 0 0 0
) & % - - - -
H£EEEY—E | 4% 1 0 0 1
pE Nt % | 1000 0.0 00 100.0
. i 4 0 1 3
Y—ERX % | 1000 0.0 250 75.0
3 2 0 1 1
Toth % | 1000 0.0 50.0 50.0
- B3 40 6 0 34
EEd
Ea& % | 1000 15.0 0.0 85.0
. B 29 18 1 10
U3
ER % | 1000 62.1 34 345
BR-AX-BM | 7 3 0 4
Y SES % | 1000 429 0.0 57.1
[ H41 18 2 0 16
R {5 % | 1000 11.1 00 88.9
N B 17 2 1 14
E@RHEX | o | 1000 118 59 824
= = HE 34 3 0 31
3 EZER. /e % | 100.0 8.8 0.0 912
= B 15 5 0 10
fé ERERBEE | 0" | 000 333 00 66.7
TEEX. YR | B8 13 3 2 8
= % | 1000 231 154 615
PATEATT. - | B3 30 10 3 17
Bifiy—EX¥E | % | 1000 33.3 10.0 56.7
BAE. B B3 7 0 0 7
H—ERE % | 1000 0.0 0.0 100.0
H£EEEY—E | % 7 0 0 7
e Nt % | 1000 0.0 0.0 100.0
e i 18 1 0 17
Y-ERX % | 1000 56 0.0 944
3 4 0 1 3
Toth % | 1000 0.0 250 75.0
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QOBN~DEERRAETHRE

FLE5 2K (OEA~BERRALTLS LG QFEERMALTLVRL
" . H3 11 1 0 10
SOBRIRE | 0" | 1900 9.1 00 909
50EAUL | H3% 17 1 1 15
100{E [ 5 i % | 100.0 5.9 5.9 882
100fEMLE | H3k 100 17 2 81
500{F A& i % | 100.0 17.0 20 81.0
500f8MLLE | 4% Al 14 4 53
& |1,000fEM %k % | 1000 19.7 56 746
i |1000EMALLE | #%% 124 41 12 71
50001 [k % | 100.0 33.1 9.7 573
5000BMLILE | 4H 24 13 3 8
1RFEEKTH % | 1000 54.2 125 333
gk 3 74 54 7 13
THRALLE % | 100.0 730 95 17.6
mEE Lt 8 2 0 6
% | 100.0 250 00 750
sk |MH| O . 0 B 0 B 0

0
50fEMLLE | % 0 0 0 0
100{E MK % = - - _

100 L | 43 17 5 0 12
5001 [k % | 1000 294 0.0 706
L] soofEMLIE | ## 16 4 0 12
15 [1,000E M K 3 % | 1000 250 0.0 75.0
1000 BHULE | 4% 80 25 12 43
50001 [k % | 100.0 313 15.0 538
5000f8MLLE | 4% 18 11 3 4
P =S % | 100.0 61.1 16.7 222
gk s 431 59 45 6 8
1RAAL % | 1000 763 10.2 136
" . 1“3 11 1 0 10
SOBFIAE | 0" | 1900 9.1 00 909
50EAUL | H% 17 1 1 15
100{E [ 5 i % | 100.0 5.9 5.9 882
100(EMALE | 43k 83 12 2 69
5001 P& i % | 100.0 145 24 83.1
3 500fBMALLE | 4% 55 10 4 41
PR SE S % | 1000 18.2 73 745
5 1,000 A LLE | 4%k 44 16 0 28
50001 [k % | 100.0 364 0.0 63.6
5000BMLILE | 4H# 6 2 0 4
1JkEES % | 1000 33.3 0.0 66.7
Sk 1“3 15 9 1 5
THRAL % | 100.0 60.0 6.7 333
mEE Lt 8 2 0 6
% | 100.0 25.0 00 750
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QBN ~DEERMAZRE

RESHA 2 (DEA~BERERALTLS LTng QFBL£EMLTLVEL
: H3 11 3 0 8
500 AR % | 100.0 273 0.0 72.7
500 ALl E HE 54 6 1 47
750 AR % | 100.0 11.1 19 87.0
750 AL E 43 39 7 3 29
1,000 A K i % | 100.0 17.9 7.1 744
1,000 A4 L H3 96 23 5 68
2,000 A K i % | 1000 240 5.2 708
&t | 2000ALLE H3 102 31 7 64
5000 A ki % | 100.0 304 6.9 62.7
5000 A LLE H3 49 24 6 19
10,000 A K58 % | 100.0 49.0 12.2 38.8
R 1“5 72 48 7 17
10000A2LE % | 100.0 66.7 9.7 236
mES H3 6 1 0 5
% | 100.0 16.7 0.0 833
. Lz 1 0 0 1
SO0 AR % | 100.0 0.0 0.0 100.0
500 AL L H3 12 3 0 9
750 AR % | 100.0 250 0.0 750
750 AL £ H3 9 1 1 7
1,000 A K35 % | 1000 11.1 11.1 71.8
1,000 A4 £ 3 29 13 2 14
£ 2000 A% % | 100.0 448 6.9 483
5| 2000ALLE 1“3 51 18 6 27
5000 A 3K i % | 1000 353 11.8 529
5000 A LLE H3 28 16 5 7
10,000 A K55 % | 100.0 57.1 17.9 250
R H 59 39 7 13
10000 A ELE % | 1000 66.1 119 220
WEE H3 1 0 0 1
% | 1000 0.0 0.0 100.0
. HE 10 3 0 7
S00ARH % | 100.0 30.0 0.0 700
500 AL E 43 42 3 1 38
750 A K 8 % | 1000 7.1 24 905
750 AL E H3 30 6 2 22
1,000 A 5K # % | 1000 200 6.7 733
3 1,000 A4 L H3 67 10 3 54
b 2000 A K % | 100.0 14.9 45 80.6
8 2,000 AL E HE 51 13 1 37
5000 A K3 % | 1000 255 2.0 725
5,000 A L1 E 43 21 8 1 12
10,000 A i % | 100.0 38.1 48 57.1
. B 13 9 0 4
10000A2LE % | 100.0 69.2 0.0 308
mES H3 5 1 0 4
% | 100.0 200 0.0 80.0
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(RE5E]

OKEY |OKBE [QRAT |[@KAT (G114 (CthFBT (DRE-E(@XREHR (Othigt (0—#EEFE DRER OQREIC |GREIC |OZ0H
21K (%X IR FILF— |RILF— |[FRIFR |RILF— |EEIXR |EIRME |RILY— |EPUE- | 2BEE BEL: [REL:
*— JLE¥— it = Ligoe Ao TEE |SHRESD
ast HE | 143 32 39 22 15 12 13 47 18 12 22 14 12 5 49
- % | 100.0 224 273 154 10.5 84 9.1 329 12.6 84 15.4 9.8 84 35 343
i 3 90 25 30 17 13 10 10 31 15 8 18 11 9 1 33
% | 100.0 278 333 18.9 144 11.1 11.1 344 16.7 89 20.0 12.2 10.0 1.1 36.7
JELiB 3 53 7 9 5 2 2 3 16 3 4 4 3 3 4 16
% | 100.0 13.2 17.0 9.4 38 38 5.7 302 5.7 75 75 5.7 5.7 15 302
(1255 5]
OKEY |@KBH |@RAT |@DKAT |O/1\14 |OHBT |(ORE-E|@XH |Othigic |O—EE (DRER OQREC (QREIC (@20
20K [RX IR FILF— |RILF— |[YRIXR |RILE— |EEIR |AIRE |RILE— |EPNE-|2BRE |BREL: |EBEL: RS
— JLF— Hifii = #is DAoL TEE [SEEG
ast w172 6 12 14 11 11 7 8 6 8 8 3 6 3 10 124
= % | 100.0 35 70 8.1 6.4 6.4 4.1 4.7 35 4.7 47 1.7 35 1.7 58 72.1
g w1 5 11 12 11 11 6 7 5 7 6 3 3 3 7 74
% | 100.0 45 9.9 10.8 9.9 9.9 54 6.3 45 6.3 54 2.7 2.7 2.7 6.3 66.7
JELiB i 61 1 1 2 0 0 1 1 1 1 2 0 3 0 3 50
% | 100.0 1.6 16 33 0.0 00 16 1.6 16 1.6 33 0.0 49 0.0 49 82.0
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DKEY |OKBExR (QBRAL |@KAT |O/1\(F |@thFT (DEE-E|@xHAK |(OiET (0—E OFRER OQREIC |BREC (OF0i
E 354 2 (%X IR FIF— |RILF— [RAIR [RILF— |FEIR [AIrE [RLX— |EDLE-|2RB%X [BREL: |[EEL:Z
F— JLE¥— i = 48 Ao TEE |SRER
g 3 19 4 2 0 1 2 1 4 4 1 2 1 5 0 5
% | 1000 21.1 105 0.0 5.3 105 5.3 21.1 21.1 5.3 105 5.3 26.3 0.0 26.3
B i 67 18 20 8 6 5 7 28 11 7 12 6 0 1 22
% | 1000 269 299 11.9 9.0 75 104 418 16.4 104 17.9 9.0 0.0 15 3238
BR-HR-BE | HE 6 1 1 3 3 1 0 2 0 1 0 0 0 0 1
oy S % | 1000 16.7 16.7 50.0 50.0 16.7 0.0 33.3 0.0 16.7 0.0 0.0 0.0 0.0 16.7
fEspEE s L 5 0 1 0 0 0 0 0 0 0 0 0 0 0 4
% | 1000 0.0 200 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 80.0
NN 43 4 0 0 0 0 0 0 1 1 0 1 0 1 0 2
EHix. BREX % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 250 250 0.0 250 0.0 250 0.0 50.0
mEs pmx | HH 13 3 6 4 3 3 3 3 1 2 4 5 2 0 7
% | 1000 23.1 46.2 30.8 23.1 23.1 23.1 23.1 7.1 154 308 385 154 0.0 53.8
=P i 6 1 2 2 0 0 0 1 0 0 0 0 0 4 0
Hj ERE. RERX % | 1000 16.7 333 333 0.0 0.0 0.0 16.7 00 0.0 0.0 0.0 00 66.7 0.0
THEX YR | HH 7 1 2 1 0 0 0 4 0 0 0 0 3 0 1
=i % | 1000 14.3 286 14.3 0.0 0.0 0.0 57.1 0.0 0.0 0.0 0.0 429 0.0 14.3
ATERZR. M- | B 15 4 5 4 2 1 2 3 1 1 3 2 1 0 7
Bifiy—ExZ | % | 1000 26.7 333 26.7 133 6.7 13.3 200 6.7 6.7 200 133 6.7 0.0 46.7
A% R 53 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—EX%E % = = = = = = = = = = = = = = =
H£EBEY—E | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RE poge % = = = = - - - - - - - - - - -
HopP R i 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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DKEY |OKBExR (QBRAL |@KAT |O/1\(F |@thFT (DEE-E|@xHK (Ot (0—E OFRER OQREIC |BREC (OF0i
E 4 2K |RX IR FILF— |RILF— [RRAIR [RILF— |FEIR [AIrE (FLEX— |EDQE-|2RE%X [BREL: |[EEL:Z
F— JLF¥F— i = LTl Ao TEIE |SRIES
g HH 13 2 1 0 1 1 1 2 3 0 2 1 4 0 5
% | 1000 154 1.7 0.0 1.1 7.1 1.1 154 23.1 0.0 154 1.7 308 0.0 385
s B 49 16 18 7 5 5 5 22 10 6 10 6 0 1 16
% | 1000 327 36.7 143 102 102 10.2 449 204 122 204 122 0.0 20 327
BER-HR-BM | 4 3 0 0 2 3 1 0 0 0 0 0 0 0 0 1
bl S % | 1000 0.0 0.0 66.7 100.0 33.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33.3
R HE 3 0 0 0 0 0 0 0 0 0 0 0 0 0 3
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
. i 2 0 0 0 0 0 0 0 1 0 1 0 1 0 1
EHx. BEX % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 50.0 0.0 50.0 0.0 50.0
s iz 10 3 6 4 3 3 3 3 1 2 4 3 2 0 6
% | 1000 30.0 60.0 40.0 30.0 300 30.0 300 10.0 20.0 40.0 30.0 20.0 0.0 60.0
= 2 1 1 1 1 0 0 0 1 0 0 0 0 0 0 0
5 ERE. RIRE % | 1000 100.0 100.0 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
THEX YR | HH 4 1 2 1 0 0 0 2 0 0 0 0 2 0 0
=1 % | 1000 250 50.0 250 0.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0
FHTEZE. EF- | 4 5 2 2 2 1 0 1 1 0 0 1 1 0 0 1
Bffivr—Ezx%Z | % | 1000 400 400 40.0 20.0 0.0 20.0 20.0 0.0 0.0 20.0 20.0 0.0 0.0 20.0
BHAE . RE = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—Ex%E % = = = = = = = = = = = = = = =
E£EBEY—E | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RE pogcse % = = = = = = = = = = = = = = =
I— ﬁ:o/f& i 0 ) 0 i 0 ) 0 i 0 ) 0 i 0 } 0 } 0 . 0 ) 0 i 0 ) 0 i 0 } 0
20 1¢t§i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AJ —_ —_ _ —_ _ —_ —_ —_ —_ —_ —_ _ —_ —_ —_
w3 i 6 2 1 0 0 1 0 2 1 1 0 0 1 0 0
% | 1000 333 16.7 0.0 0.0 16.7 0.0 333 16.7 16.7 0.0 0.0 16.7 0.0 0.0
B i 18 2 2 1 1 0 2 6 1 1 2 0 0 0 6
% | 1000 11.1 11.1 56 5.6 0.0 11.1 33.3 5.6 5.6 11.1 0.0 0.0 0.0 333
BER AR | 4 3 1 1 1 0 0 0 2 0 1 0 0 0 0 0
B-kiE % | 1000 333 333 333 0.0 0.0 0.0 66.7 0.0 33.3 0.0 0.0 0.0 0.0 0.0
EpEE 541 2 0 1 0 0 0 0 0 0 0 0 0 0 0 1
P = % | 1000 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0
. i 2 0 0 0 0 0 0 1 0 0 0 0 0 0 1
Bk, BEX % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0
M hE i 3 0 0 0 0 0 0 0 0 0 0 2 0 0 1
3 1;/%51 100.3 0.8 0.? 0.(1J o.g o.g o.g o.g 0.8 o.g 0.8 66.(7) o.g 0.2 33.(3;
1{:5,- R, RIRE % | 1000 0.0 20.0 20.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 80.0 0.0
TEEEX. YR | B8 3 0 0 0 0 0 0 2 0 0 0 0 1 0 1
=1 % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 66.7 0.0 0.0 0.0 0.0 333 0.0 333
TR, EM- | 45 10 2 3 2 1 1 1 2 1 1 2 1 1 0 6
Bifiy—Ex%Z | % | 1000 200 300 200 10.0 10.0 10.0 200 10.0 10.0 200 10.0 10.0 0.0 60.0
BA% . HE 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—ERE % = = = = = = = = = = = = = = =
H£EEEY—E | 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
x% gg:g:% % — — — — — — — — — — — — — — —
PR 0 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
iz 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z Dt 5 N ~ - ~ - ~ N ~ N N ~ - ~ N ~
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DOKEY [@QKEHR (QBAL |@KAT |G/ (74 |@thZT (DEE-E(@xH{E (OBt |(0—KE DRER (QFREIC (QBREIC |70
eS| 2K | =R IR |RILF— |RILF— [RRIFR [(RILE— |FEIR |BIRE [RILE— (EPLE-(2REEXx BREL: |EEL: EEE
F— JLx— Hfff E> fitia YHAY)L TEE |SEES
e HE 22 1 3 4 2 3 0 1 1 0 2 0 0 0 1 15
§ % | 1000 45 136 18.2 9.1 13.6 0.0 45 45 0.0 9.1 0.0 0.0 0.0 45 682
B H3 76 3 3 7 5 4 3 4 2 5 2 2 0 1 1 58
% | 1000 3.9 3.9 9.2 6.6 5.3 3.9 5.3 26 6.6 2.6 26 0.0 1.3 13 763
BER-HR-EM | 43 8 1 2 0 1 0 1 0 0 1 1 0 0 0 0 5
B-kEE % | 1000 125 25.0 0.0 125 0.0 125 0.0 00 125 12.5 0.0 0.0 0.0 0.0 625
S 1“3 7 0 2 1 0 0 0 1 0 0 0 0 0 0 0 5
% | 1000 0.0 286 14.3 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 714
N 45 6 0 1 1 1 1 0 0 0 0 0 0 0 0 2 4
Bk, BEX % | 100.0 0.0 16.7 16.7 16.7 16.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 333 66.7
" . [ 15 0 0 0 0 1 1 1 1 0 1 0 2 1 1 11
EIFER. TR % | 1000 0.0 0.0 0.0 0.0 6.7 6.7 6.7 6.7 0.0 6.7 0.0 133 6.7 6.7 733
=1 PN IE 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6
it ERR. RERE % | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 00| 1000
THEX . Ya | 48 9 0 0 0 1 1 2 0 2 2 0 1 2 1 1 5
g % | 1000 00 00 00 11.1 1.1 22.2 00 222 222 0.0 11.1 222 11.1 11.1 55.6
FTERZR. 2| B8 19 1 1 1 1 1 0 1 0 0 1 0 1 0 2 14
Bftiy—Ezxz | % | 1000 5.3 5.3 5.3 5.3 5.3 0.0 5.3 0.0 0.0 5.3 0.0 5.3 0.0 10.5 737
BAk . RE i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—ERE % | - - - - - - - - - - - - - - -
E£EEEY—E | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
X% gg;g:% % — — — — — — — — — — — — — — —
H_pRE HH 2 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 50.0
20 1“3 2 0 0 0 0 0 0 0 0 0 1 0 1 0 1 0
% | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 50.0 0.0 50.0 0.0
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DOKEY [@QKBEHR (QBRAL |@KAT |G/ (74 |GthBT (DEL-E|(@xHE Ot |(O0—KE ORER (QFREC |GREIC |OF0Hh
e 4 2K [#X IR FILF— |RILF— [RRAIR |RILF— |FEIR |AIrE [RLEX— [EDRE-|2BEX |BEL: [BEEL: |mE%
F— JL¥— i = Lagive] UHAoIL TEE |SEESD
sesp 2 16 1 3 4 2 3 0 1 1 0 1 0 0 0 1 10
i % | 1000 6.3 18.8 250 125 18.8 0.0 6.3 6.3 0.0 6.3 0.0 0.0 0.0 6.3 62.5
B H% 57 3 2 5 5 4 2 4 2 4 2 2 0 1 1 42
% | 1000 53 35 838 8.8 7.0 35 7.0 35 70 35 35 0.0 18 18 731
BER-AR-BE | 4 5 1 2 0 1 0 1 0 0 1 1 0 0 0 0 2
o SE 2 % | 1000 200 400 0.0 200 0.0 200 0.0 0.0 200 200 0.0 0.0 0.0 0.0 400
S %5 5 0 2 1 0 0 0 1 0 0 0 0 0 0 0 3
= % | 1000 0.0 40.0 20.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 60.0
. 3k 3 0 1 1 1 1 0 0 0 0 0 0 0 0 1 2
Bk, BEX % | 1000 0.0 333 333 333 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 333 66.7
= = G 12 0 0 0 0 1 1 1 1 0 1 0 2 1 1 8
IR, TR % | 1000 0.0 0.0 0.0 0.0 8.3 8.3 8.3 8.3 0.0 8.3 0.0 16.7 8.3 8.3 66.7
£z CE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
5 ERR. RIRX % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
THEX. Ya | 5 4 0 0 0 1 1 2 0 1 2 0 1 1 1 0 2
= % | 1000 0.0 0.0 0.0 250 250 50.0 0.0 250 50.0 0.0 250 250 250 0.0 50.0
2HTEZE. EF- | 4 6 0 1 1 1 1 0 0 0 0 1 0 0 0 1 4
Bifiy—Ex%E | % | 1000 0.0 16.7 16.7 16.7 16.7 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 16.7 66.7
BAL HE 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—EXE % = = = = = = = = = = = = = = = =
E£EEEY—E | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
pE N 3 % - - - - - - - - - - - - - - - -
R 5 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0
204 i 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0
g 3 6 0 0 0 0 0 0 0 0 0 1 0 0 0 0 5
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 16.7 0.0 0.0 0.0 0.0 83.3
o i 19 0 1 2 0 0 1 0 0 1 0 0 0 0 0 16
= % | 1000 0.0 53 105 0.0 0.0 5.3 0.0 0.0 53 0.0 0.0 0.0 0.0 0.0 84.2
BER-HR-2E | 43 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
R SE 2 % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
EpE s G 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
= % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
. H% 3 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2
Bk, BEX % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33.3 66.7
mEE hE 5 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
3 : 1;/;5( 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
- E 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5
1; B, RIRE % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
THEX . Ya | #3 5 0 0 0 0 0 0 0 1 0 0 0 1 0 1 3
=1 % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 00 200 00 0.0 0.0 200 0.0 200 60.0
2T, EF- | 4 13 1 0 0 0 0 0 1 0 0 0 0 1 0 1 10
Bifiy—Ex% | % | 1000 1.1 0.0 0.0 0.0 0.0 0.0 7.1 0.0 0.0 0.0 0.0 7.1 0.0 7.1 76.9
BHHAE B H5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H—EX%E % = = = = = = = = = = = = = = = =
H£EEEY—E | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
pEN - 3 % - - - - - - - - - - - - - - - -
I [EE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
20 H5 1 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 100.0 0.0 0.0 0.0
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(RE5E]

OKEY |@KEHR (QERALT |@KAT |O/n174 (OthET (DRE-E|@XHR (Ot (O0—iFE (DRER OREIC |BREC (OZ0f
L= 2K |~ IR [RILF— [RILF— |[RRIF |RILF— [EEIR ([BIRME |RILF— |EP0E-|2TEE (REL: |BEELE
" — JLE¥— i £ i DAoL TEE |SHEG

= e 3 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
SOBFIFIA % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
50 BMLLLE | H% 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
1001 [k % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
100 UL | #H3k 17 3 2 2 1 2 1 4 0 1 1 3 2 0 6
50018 9 K jif % | 1000 17.6 11.8 11.8 5.9 11.8 5.9 235 0.0 5.9 5.9 17.6 11.8 0.0 35.3
500 EMALLE | 3K 14 2 0 0 0 0 0 4 0 2 2 0 0 0 7
& [1,000(E M % % | 1000 14.3 0.0 0.0 0.0 0.0 0.0 286 0.0 143 143 0.0 0.0 0.0 50.0
§t[1000fEMALLE | #H3K 41 8 14 4 2 1 2 15 2 2 6 2 1 2 11
500012 & 5 % | 1000 195 34.1 9.8 49 24 49 36.6 49 49 14.6 49 24 49 26.8
5000f8F L | H3K 13 3 2 2 2 2 2 4 2 1 2 0 0 1 3
1k ki % | 1000 231 154 154 154 154 154 308 154 1.7 154 0.0 0.0 1.7 23.1
13KE L 1’-t§i 54 16 19 13 10 7 8 19 13 6 11 9 9 2 20
% | 1000 296 352 24.1 185 13.0 14.8 352 24.1 11.1 204 16.7 16.7 3.7 370
WEE i 2 0 2 1 0 0 0 1 1 0 0 0 0 0 0
e % | 1000 0.0 100.0 50.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
- #tf& _ 0 0 . 0 . 0 _ 0 . 0 _ 0 . 0 _ 0 . 0 _ 0 . 0 _ 0 _ 0 . 0
50EMULE | 43 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

100fEMkE | % - - - - - - - - - - - - - -
100 L | 4% 5 2 0 0 0 1 0 1 0 0 0 1 0 0 2
50012 R % | 1000 400 0.0 0.0 0.0 200 0.0 20.0 0.0 0.0 0.0 20.0 0.0 0.0 400
£ soofEAULE | #% 4 0 0 0 0 0 0 0 0 1 0 0 0 0 3
15 |1,000{8 [ % % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 250 0.0 0.0 0.0 0.0 750
1000fEMLLE | 43Kk 25 6 10 4 1 0 1 11 0 1 5 1 1 0 7
5000{E [k % | 1000 240 400 16.0 40 0.0 40 440 0.0 40 200 40 40 0.0 280
5000f8FLLLE | 43k 11 3 2 2 2 2 1 3 2 1 2 0 0 1 3
1k ki % | 1000 27.3 18.2 182 182 182 9.1 273 182 9.1 182 0.0 0.0 9.1 27.3
19 BLE 2 45 14 18 11 10 7 8 16 13 5 11 9 8 0 18
% | 1000 31.1 400 244 222 156 17.8 356 289 11.1 244 200 178 00 400
= . 43 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
SOBFIFH % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
50 BMLLLE | H# 1 0 0 0 0 0 0 0 0 0 0 0 0 0 1
100{E % % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
100 ML | 4% 12 1 2 2 1 1 1 3 0 1 1 2 2 0 4
500{& [ % i % | 1000 83 16.7 16.7 83 8.3 83 250 0.0 8.3 83 16.7 16.7 00 333
% 500 AL | K 10 2 0 0 0 0 0 4 0 1 2 0 0 0 4
b [1.000fE A % | 100.0 200 0.0 0.0 0.0 0.0 0.0 400 0.0 10.0 200 0.0 0.0 0.0 400
5 1000fEMLLE | 445K 16 2 4 0 1 1 1 4 2 1 1 1 0 2 4
5000{& [k 3 % | 1000 125 250 0.0 6.3 6.3 6.3 250 125 6.3 6.3 6.3 0.0 125 250
5000EMLLL | H4E 2 0 0 0 0 0 1 1 0 0 0 0 0 0 0
1k A % | 1000 0.0 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Sl s H3 9 2 1 2 0 0 0 3 0 1 0 0 1 2 2
1RMAAL % | 1000 222 11.1 222 0.0 0.0 0.0 333 0.0 11.1 0.0 0.0 11.1 22.2 22.2
WEE i 2 0 2 1 0 0 0 1 1 0 0 0 0 0 0
e % | 1000 0.0 100.0 50.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
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DOKEY |QAXBE (QARAIT |(@KAT |B/114 |@hET (DRE-E|@XREHR |OthigiT [O—#FE ODRER OQREIC (OQREC (@FT0f
sELEA 2K |RX IR FILF— |RILF— |[RRAIR [RIF— [EEIR |AIRE |RILEY— (EPUE- | £BRE BELE: ([EEL: ELEE
F— ILE— Bl = B DAoL TEE |SHER

B H2 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 0.0 0.0 0.0 00| 1000
50 BMLLE | H# 2 0 0 0 0 0 0 0 0 0 1 0 1 0 0 1
100{EM K % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 50.0 0.0 0.0 50.0
100fBALLE | #H%% 19 1 0 0 0 0 0 0 0 0 0 0 0 0 1 17
50018 M5k % | 1000 53 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.3 895
500 ML | HHK 18 0 0 0 0 0 0 1 1 0 1 0 2 0 2 13
& 1,000EM kS % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 5.6 56 0.0 5.6 0.0 11.1 0.0 11.1 72.2
& 1000 AL | #H3k 53 2 6 7 4 4 2 3 2 3 1 1 2 1 4 34
50001 [k % | 1000 38 113 132 15 15 338 5.7 38 5.7 19 1.9 38 19 15 64.2
5000EMLLL | 4EKk 16 0 1 0 1 0 0 0 0 1 0 0 0 0 1 12
1IRARH % | 1000 0.0 6.3 0.0 6.3 0.0 0.0 0.0 0.0 6.3 0.0 0.0 0.0 0.0 6.3 750
Sk 1“3 61 3 5 7 6 7 5 4 3 4 5 2 1 2 2 44
1ML % | 1000 49 82 115 9.8 11.5 82 6.6 49 6.6 82 3.3 16 3.3 3.3 72.1
mES i 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
oMM #t/fﬂz i 0 0 i 0 B 0 B 0 B 0 B 0 0 0 i 0 B 0 i 0 } 0 ) 0 i 0 ) 0
50 BMLLLE | B3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

100{E M ki % = = = = = = = = = = = = =
100 L | 4% 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5
5001% [ 5k i % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 | 1000
£ | soofEMILE | #% 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4
15 | 1.000{& M ki % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
1000fEA U E | #H# 37 2 5 6 4 4 2 3 2 2 1 1 2 1 4 20
5000 [k i % | 1000 54 135 16.2 10.8 10.8 54 8.1 54 54 2.7 2.7 54 27 10.8 54.1
5000EMLILE | 4EK 14 0 1 0 1 0 0 0 0 1 0 0 0 0 1 10
1k ki % | 1000 0.0 7.1 0.0 7.1 0.0 0.0 0.0 0.0 7.1 0.0 0.0 0.0 0.0 7.1 714
gk FO I 54 51 3 5 6 6 7 4 4 3 4 5 2 1 2 2 35
1RMAAL % | 1000 5.9 98 11.8 11.8 13.7 78 7.8 59 7.8 9.8 3.9 20 39 3.9 68.6
SOME M i i 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 | 1000
50EALLLE | 43 2 0 0 0 0 0 0 0 0 0 1 0 1 0 0 1
100{E M ki % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 50.0 0.0 0.0 50.0
100(BMALLE | 4% 14 1 0 0 0 0 0 0 0 0 0 0 0 0 1 12
500{& [ ki % | 1000 7.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.1 85.7
3 500BALLE | 14 0 0 0 0 0 0 1 1 0 1 0 2 0 2 9
b [1.000fE K % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 7.1 7.1 0.0 7.1 0.0 143 0.0 14.3 64.3
18 10008 E | ##% 16 0 1 1 0 0 0 0 0 1 0 0 0 0 0 14
5000{& [ %k i % | 1000 0.0 6.3 6.3 0.0 0.0 0.0 0.0 0.0 6.3 0.0 0.0 0.0 0.0 0.0 875
5000f8FLLE | 3K 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
1k A % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
Sk H3 10 0 0 1 0 0 1 0 0 0 0 0 0 0 0 9
1ML % | 1000 0.0 0.0 10.0 0.0 0.0 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 90.0
WA 142 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
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(RE5E]

DOKEY |@OKEH (QBRALT |@KAT |O/1\(F |OthBT (DRLE-E|@xHAR (Ot (0—KE (ORER OREIC |BREC (OF0f

e %A 21K |RR IR FIIF— |RILF— [FRIR [RILF— [FEIXR |EIRE |RILY— (EHQE-|2REEX |BEELR: |EBEL:

— X— ILE— Hfif = g UHAoIL TEE |SHEEH
. L 3 0 0 0 0 0 0 0 0 0 0 0 0 0 3
S00A R % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
500 A LLE i 6 1 2 0 0 1 0 3 1 0 0 0 0 1 2
750 A\ ki % | 1000 16.7 333 0.0 0.0 16.7 0.0 50.0 16.7 0.0 0.0 0.0 0.0 16.7 333
750 ALl E HE 7 1 2 2 0 0 0 1 0 0 1 0 1 0 2
1,000 A K8 % | 1000 14.3 286 286 0.0 0.0 0.0 143 0.0 0.0 14.3 0.0 143 0.0 286
1,000 AL £ i 23 4 3 2 0 0 1 7 0 1 2 3 1 0 6
& | 2000 A% % | 1000 17.4 13.0 8.7 0.0 0.0 43 304 0.0 43 8.7 13.0 43 0.0 26.1
| 2000ALLE i 31 7 9 5 4 5 3 8 1 4 8 3 3 0 12
5,000 A K % | 1000 226 29.0 16.1 12.9 16.1 9.7 25.8 32 129 258 9.7 9.7 0.0 387
5000 ALl E HE 24 6 9 4 5 1 3 10 3 2 2 3 4 0 8
10,000 A ki % | 1000 250 375 16.7 2038 42 125 41.7 125 83 8.3 125 16.7 0.0 333
R o 48 13 14 9 6 5 6 17 13 5 9 5 3 4 16
10000A 5L % | 1000 27.1 292 18.8 125 104 125 354 27.1 104 18.8 104 6.3 8.3 333
WEE 5 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

#4

500 A 332 1¢°/:51 i 0 B 0 i 0 B 0 i 0 B 0 i 0 B 0 B 0 § 0 ) 0 i 0 } 0 i 0 } 0
500 A L1 E iz 3 1 1 0 0 1 0 2 0 0 0 0 0 0 1
7150 AR % | 1000 333 333 0.0 0.0 333 0.0 66.7 0.0 0.0 0.0 0.0 0.0 0.0 333
750 AL E i 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0
1,000 A k5 % | 1000 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
E| 1000ALLLE = 13 3 3 2 0 0 1 3 0 1 1 1 1 0 4
5| 2000 A% % | 1000 23.1 2341 154 0.0 0.0 1.7 23.1 0.0 1.1 7.1 1.7 7.1 0.0 308
2,000 ALLE i 18 3 7 4 3 3 2 3 1 1 6 2 2 0 7
5000 A K3 % | 1000 16.7 389 222 16.7 16.7 11.1 16.7 5.6 56 333 11.1 11.1 0.0 389
5,000 A LLE i 16 5 5 3 4 1 2 7 2 2 2 3 3 0 7
10,000 A K& % | 1000 31.3 313 18.8 250 6.3 12.5 438 125 125 125 18.8 18.8 0.0 438
R i 39 12 14 8 6 5 5 16 12 4 9 5 3 1 14
10000 A LE % | 1000 308 359 205 154 128 12.8 410 308 103 23.1 128 7.1 2.6 359
. i 3 0 0 0 0 0 0 0 0 0 0 0 0 0 3
S00A K % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
500 AL E i 3 0 1 0 0 0 0 1 1 0 0 0 0 1 1
750 AR % | 1000 0.0 333 0.0 0.0 0.0 0.0 33.3 333 0.0 0.0 0.0 0.0 333 333
750 ALl E i 6 0 2 2 0 0 0 1 0 0 1 0 1 0 2
1,000 A kB % | 1000 0.0 333 333 0.0 0.0 0.0 16.7 0.0 0.0 16.7 0.0 16.7 0.0 333
% 1,000 AL £ i 10 1 0 0 0 0 0 4 0 0 1 2 0 0 2
b 2000\ KifH % | 100.0 10.0 0.0 0.0 0.0 0.0 0.0 400 0.0 0.0 10.0 200 0.0 0.0 200
8 2,000 ALl E i 13 4 2 1 1 2 1 5 0 3 2 1 1 0 5
5,000 A K % | 1000 30.8 154 7.1 1.1 154 7.1 385 0.0 23.1 154 1.1 7.1 0.0 385
5000 A LLE B 8 1 4 1 1 0 1 3 1 0 0 0 1 0 1
10,000 A K B % | 1000 125 50.0 125 125 0.0 125 375 125 0.0 0.0 0.0 12.5 0.0 12.5
R 43 9 1 0 1 0 0 1 1 1 1 0 0 0 3 2
10000A 5L % | 1000 11.1 0.0 11.1 0.0 0.0 11.1 11.1 11.1 11.1 0.0 0.0 0.0 333 222
WA 2 1 0 0 0 0 0 0 1 0 0 0 0 0 0 0
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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DOKEY [@QKEHR (QBRAL |@KAT |O/\(F |GthBT (DEL-E|(@xHE OB |(O0—KE ORER (QFREC |GREIC |OF0Hh

EE a7 2K | %R IR FILF— |RILF— [FRAIFR |RILF— |EEIR |BIRME [RLF— ([EDRE-|2BEE |BREL: |[EBEEL: EEE
5 *— JLE¥— it = g B4 TEIE |SHES

: Liin 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
S00A R % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 00| 1000
500N L1 E 1“3 7 0 0 0 0 0 1 0 1 1 0 0 1 0 0 5
750 A ki % | 1000 0.0 0.0 0.0 0.0 0.0 14.3 0.0 14.3 143 0.0 0.0 143 0.0 0.0 714
750Nl E i 10 1 0 0 0 0 0 0 0 0 1 0 1 0 1 7
1,000 A KB % | 1000 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 10.0 0.0 10.0 0.0 100 700
1,000 AL E 1“3 28 0 2 2 1 1 0 0 0 0 2 0 1 0 4 19
& | 2000 A% % | 100.0 0.0 7.1 7.1 3.6 36 0.0 0.0 0.0 0.0 7.1 0.0 3.6 0.0 143 67.9
&t 2000ALLE 3k 38 1 3 2 1 1 0 4 2 0 1 0 2 1 1 29
5000 A K % | 1000 2.6 79 5.3 26 26 0.0 105 5.3 00 2.6 0.0 5.3 26 26 76.3
5,000 A LLE i 30 2 3 6 4 5 3 2 1 2 1 1 1 1 1 18
10,000 A K % | 1000 6.7 10.0 20.0 13.3 16.7 10.0 6.7 33 6.7 33 33 33 33 33 60.0
R H# 55 2 4 4 5 4 3 2 2 5 3 2 0 1 3 42
10000 A 2LE % | 1000 3.6 7.3 1.3 9.1 7.3 55 36 3.6 9.1 55 3.6 0.0 18 55 764
mES i 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
% | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
500 A S i #t/fsz B 0 0 0 i 0 B 0 i 0 B 0 B 0 i 0 B 0 i 0 ) 0 i 0 } 0 } 0 i 0
500 AL E i 3 0 0 0 0 0 1 0 0 1 0 0 0 0 0 2
750 A\ ki % | 1000 0.0 0.0 0.0 0.0 0.0 333 0.0 0.0 333 0.0 0.0 0.0 0.0 0.0 66.7
750 N E H% 2 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1
1,000\ 3k 5 % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 50.0
£ 1000ALE i 15 0 1 2 1 1 0 0 0 0 1 0 1 0 1 11
5| 2000 AKH % | 1000 0.0 6.7 133 6.7 6.7 0.0 00 0.0 00 6.7 0.0 6.7 0.0 6.7 733
2,000 ALLE H% 24 1 3 2 1 1 0 3 2 0 1 0 1 1 1 16
5,000 A K58 % | 1000 42 125 83 42 42 0.0 125 8.3 0.0 42 0.0 42 42 42 66.7
5000 A L1 E 3 21 2 3 4 4 5 2 2 1 1 1 1 1 1 1 11
10,000 Ak i % | 1000 9.5 143 19.0 19.0 238 95 9.5 48 48 48 48 48 48 48 524
R G 46 2 4 4 5 4 3 2 2 5 3 2 0 1 3 33
10000 A 2LE % | 1000 43 8.7 8.7 10.9 8.7 6.5 43 43 10.9 6.5 43 0.0 22 6.5 717
: 5 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3
S00A R % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
500 A L1 E i 4 0 0 0 0 0 0 0 1 0 0 0 1 0 0 3
750 A3k i % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 250 0.0 0.0 0.0 250 0.0 0.0 750
750 N £ 1“3 8 1 0 0 0 0 0 0 0 0 1 0 1 0 0 6
1,000 A K % | 1000 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 125 0.0 125 0.0 0.0 750
3 1,000 A L E i 13 0 1 0 0 0 0 0 0 0 1 0 0 0 3 8
b | 2000 A % | 1000 0.0 7.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 0.0 0.0 0.0 231 61.5
I8 2,000 ALLE 1“3 14 0 0 0 0 0 0 1 0 0 0 0 1 0 0 13
5000 A K % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 7.1 0.0 0.0 0.0 0.0 7.1 0.0 0.0 92.9
5000 A LLE i 9 0 0 2 0 0 1 0 0 1 0 0 0 0 0 7
10,000 A K & % | 1000 0.0 0.0 222 0.0 0.0 11.1 0.0 0.0 11.1 0.0 0.0 0.0 0.0 0.0 778
R 1“5 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9
10000 A 2LE % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00| 1000
BES 8 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
e % | 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 00| 1000
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FHLDEETEA TS,

BROTISHRETIIRENEDIL

HEFEOLL—Y—0E#H -BEOAELEND

TBHEZFOEN T2

EETHEHRATDICAFTEGN

RIERAORKE. AMFOREZERDEMVEIREEZEZHLE)RIMNE
TATTRO/ININFELTNS

FEICRIRBII7RLY

ZDits

CESNCRONONONONS)

OEROTISR|OHEELL— (OTBHESED |DRET 2155 (ORMEAR LR |©T7/T7/ |DFICRIEEL |©Z 0t
BTRBRENE (V—0EH-B |XBEAT2E | B TFICAFT K. AMEDRE [INIHBFEL |
2 [bHiz DIVELEN [0 ER0 BEROEMH[TLD

BREEERD

EVRIA BN
a5t 429 144 165 132 109 153 133 65 29
= % | 1000 336 385 308 254 357 31.0 15.2 6.8
& i | 190 74 78 62 54 79 57 25 8
Hi % | 1000 389 41.1 326 284 416 300 132 42
JEriB | 239 70 87 70 55 74 76 40 21
% | 1000 29.3 36.4 293 230 310 31.8 16.7 88

163




; a1—|®1T & & i § T TR
OREROTIHR|QHEE® QITHHEEED |DREET 215 |ORMHARCE(O@OTAT 7o/ |DICRIEIEL |@F 0t
BTEHRENE |[V—0EH-B [XEN+H214 |D+HDITAFT (B AMZEOR |91\ I8FZL |
E3: V] £k [hizy IDAVERELY L E0 = ERDBMI| TS
BREEEZD
LURIMELN
5 HH 73 23 25 27 22 35 23 12 6
23
BEx % | 1000 315 34.2 37.0 30.1 479 315 16.4 8.2
P HH 108 41 40 32 22 43 28 19
= % | 1000 380 370 296 204 398 25.9 176 8.3
BR-AR-8E | #8 12 7 6 4 4 6 6 0 0
ook % | 1000 583 500 333 333 50.0 50.0 00 00
R 8 29 9 12 10 9 8 13 2 2
R % | 1000 31.0 414 345 31.0 276 448 6.9 6.9
mss 8 24 7 7 5 5 12 8 2 1
£
Ek. BEx % | 1000 292 292 208 208 50.0 333 8.3 42
= = 31 53 18 23 19 15 19 16 10 4
B, hTR % | 1000 340 434 358 283 358 30.2 189 75
Bz H3 30 6 9 6 8 6 13 2 1
H ERE RERX % | 1000 200 300 200 267 200 433 6.7 33
THEZ. WS | #5% 20 8 8 8 7 6 7 1 3
b= % | 1000 400 400 400 350 300 350 50 15.0
TR, FFY- | 5 37 10 12 6 6 9 4 12 2
|ffii—Ex% | % | 1000 270 324 16.2 16.2 243 108 324 54
[CHEE-/4: S 8 7 5 3 3 2 1 2 1 0
H—ER% % | 1000 714 429 429 286 143 286 143 00
EEEEY—E | #% 8 3 4 3 2 1 4 1 1
FPENE T3 % | 1000 375 50.0 375 250 125 50.0 125 125
. 5 22 6 14 7 4 6 7 1 0
YoERX % | 1000 213 63.6 318 182 213 318 45 0.0
H8 6 1 2 2 3 1 2 2 0
ot % | 1000 167 333 333 50.0 16.7. 333 333 00
g 8 33 14 14 13 14 17 8 5 0
i % | 1000 424 424 394 424 515 24.2 152 00
p—_— G2 79 30 29 24 16 31 20 15 4
% | 1000 380 36.7 304 20.3 39.2 253 190 5.1
BR-AR-BM | HH 5 3 2 1 1 4 3 0 0
- 7ki % | 1000 60.0 400 200 200 80.0 60.0 00 0.0
R i 11 5 4 4 4 3 3 0 0
AR % | 1000 455 36.4 36.4 36.4 213 213 00 00
N ) 7 2 0 1 2 3 3 0 1
Bk, BEx % | 1000 286 00 143 286 429 429 0.0 143
= = HH 19 9 12 7 5 10 6 3 1
BIZEAEE | o | 1000 474 632 368 263 526 316 158 53
£lag 2 15 4 6 2 6 4 8 0 0
%5 AR, R % | 1000 26.7 400 133 400 26.7 53.3 00 0.0
THEX. D& | B8 7 2 2 3 3 2 3 0 2
= % | 1000 286 286 429 429 286 429 00 286
TR, B | 3% 7 3 3 3 1 4 0 1 0
|Effiy—Ez%E | % | 1000 429 429 429 143 57.1 00 143 00
[CHEEN-/ 2 5 0 0 0 0 0 0 0 0 0
_EX % - - - - - -
HEERBEY—E | #8 1 1 1 1 0 0 1 0 0
| =g pasmcse % | 1000 100.0 100.0 100.0 0.0 0.0 100.0 00 00
N X 4 0 4 2 1 0 2 0 0
FoER% % | 1000 00 100.0 50.0 250 0.0 50.0 00 00
8 2 1 1 1 1 1 0 1 0
ToH % | 1000 500 500 50.0 50.0 50.0 00 50.0 0.0
— EE3 40 9 1 14 8 18 15 7 6
i % | 1000 225 275 350 200 450 375 175 150
. X3 29 11 11 8 6 12 8 4 5
&
BiE% % | 1000 379 379 276 20.7 414 276 1338 172
BEER AR | 43 7 4 4 3 3 2 3 0 0
HookiEg % | 1000 57.1 57.1 429 429 286 429 00 00
= HH 18 4 8 6 5 5 10 2 2
1 % =
thHR (=% % | 1000 222 444 333 278 278 55.6 11.1 11.1
. X" 17 5 7 4 3 9 5 2 0
Bk, BEX % | 1000 294 41.2 235 17.6 529 294 11.8 0.0
= = 0 34 9 11 12 10 9 10 7 3
= N
3 BIZRAEX | o | 1000 265 324 353 294 265 294 206 838
= ) 15 2 3 4 2 2 5 2 1
g ERLR. RE* % | 1000 133 20.0 26.7 133 133 333 133 6.7
THEX. D& | 8 13 6 6 5 4 4 4 1 1
= % | 1000 46.2 46.2 385 308 308 308 7.7 7.1
AT, B | H8 30 7 9 3 5 5 4 11 2
lffii—Ex% | % | 1000 233 300 10.0 16.7 16.7 133 36.7 6.7
[CHEE -/ § 2 L 7 5 3 3 2 1 2 1 0
H—ER%E % | 1000 714 429 429 286 143 286 143 00
EEREY—E | ##% 7 2 3 2 2 1 3 1 1
R pEm % | 1000 286 429 286 286 143 429 143 14.3
N i 18 6 10 5 3 6 5 1 0
ToERX % | 1000 333 55.6 278 167 333 278 56 0.0
HH 4 0 1 1 2 0 2 1 0
Tot % | 1000 00 250 250 50.0 00 50.0 250 00
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OBEROTISR|QHEELL— (T BHESED |DRET 255 (ORMBARLR|©T/T7v/ |DFICREEL |©Z0f
ETERENE |[V—0BH-B [XEN+21T4 |D+HSITAFT B, AHZEOR |9 INFREL (W
b=y EZ 3Pt DOVELEN [0 Ez{a} = ERDEMI (TS
BREEEZD
LRI LN

] e 3 11 5 6 3 1 4 1 2 0
SOfBFIARH % | 1000 455 54.5 273 9.1 364 9.1 18.2 0.0
S0fEMLIE | 17 3 6 6 6 4 10 2 0
100{E [ i % | 1000 17.6 35.3 353 353 235 58.8 118 0.0
100fEMLE | H# 100 27 34 22 22 31 36 19 4
50018 [ 5 % | 1000 270 340 220 220 31.0 36.0 190 40
500 ML | 3k Al 24 20 18 13 25 16 10 7
& [1,000f8M % % | 1000 338 28.2 254 18.3 352 225 14.1 9.9
&t [1.000fEMALILE | H3k 124 39 54 42 37 49 40 16 14
500018 [ s i# % | 1000 315 435 339 298 395 323 129 1.3
5000fEMLLE | %k 24 13 8 7 4 7 5 5 3
13k ki % | 1000 54.2 333 292 16.7 292 208 20.8 125
9K LS i 74 31 31 32 24 32 20 10 1
TIALE % | 1000 419 419 432 324 432 27.0 135 14
wES 8 8 2 6 2 2 1 5 1 0
% | 1000 250 750 250 250 125 625 125 0.0
[ #t,? _ 0 . 0 _ 0 - 0 . 0 . 0 - 0 . 0 . 0
50fEMLLE | ¥ 0 0 0 0 0 0 0 0 0

100{8 ki % - - - - - - - - -
100fEMLLLE | #3 17 3 9 2 3 8 8 3 0
500{& M %3 % | 1000 17.6 52.9 1.8 176 471 47.1 17.6 0.0
L | soofEMUL | #3 16 6 3 3 5 3 3 2 1
3% |1,000fE M & % | 1000 375 188 188 313 1838 188 125 6.3
1000fEMLLE | % 80 28 32 26 25 35 28 9 6
500012 9 o i % | 1000 350 400 325 31.3 438 350 11.3 15
5000f8MLLLE | #% 18 10 7 5 3 5 4 4 1
1k % | 1000 55.6 389 2738 16.7 27.8 222 222 56
ST L 31 59 27 27 26 18 28 14 7 0
13kFELE % | 1000 458 4538 44.1 305 475 237 11.9 0.0
e HH 11 5 6 3 1 4 1 2 0
SOfEFIARH % | 1000 455 54.5 273 9.1 364 9.1 18.2 0.0
50fEMLLLE | 3k 17 3 6 6 6 4 10 2 0
100{E [ % | 1000 17.6 35.3 353 353 235 58.8 118 0.0
100f8MLLLE | #% 83 24 25 20 19 23 28 16 4
5005 k2 % | 1000 289 30.1 24.1 229 271 33.7 19.3 48
% 500 ML | 3k 55 18 17 15 8 22 13 8 6
b [LocofE Mk % | 1000 327 30.9 213 145 400 236 145 109
s 1000fEA L | #3k 44 11 22 16 12 14 12 7 8
50002 9 % i % | 1000 250 50.0 364 273 31.8 27.3 15.9 18.2
5000fEMLLE | 3K 6 3 1 2 1 2 1 1 2
1k % | 1000 50.0 16.7 333 16.7 333 16.7 16.7 333
Sk H 15 4 4 6 6 4 6 3 1
TIARLE % | 1000 26.7 26.7 400 400 26.7 400 200 6.7
mEE 0 8 2 6 2 2 1 5 1 0
% | 1000 250 750 250 250 125 625 125 00
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OEROTISR|DHEELL— [OTBHESED |DRET 2155 (ORMEARLR|©T7T/T7/ |DFICRREEL |©Z0t
ETRHBENE [V—0B#E-E |XEN+H2TH |D+HRCAFET K. AMEOR [N\ IHTEL (L
HEEBHR EZ Pt A IDASEFELY | EzAA ERROBMK|TLS
BREEEZD
% LURIA LY
. # 11 4 4 1 5 2 5 2 1
S00ARH % | 1000 36.4 36.4 9.1 455 182 455 18.2 9.1
500 AL E 8 54 12 17 17 10 21 13 14 6
750 AKiH % | 1000 222 315 315 185 389 24.1 259 11.1
750 ALl E " 39 13 16 14 11 14 17 4 2
1.000 A K i# % | 1000 333 410 359 282 359 436 10.3 5.1
1,000 AL L 8 96 31 34 25 20 34 29 14 7
& | 2000 A% % | 1000 323 354 260 2038 354 302 146 73
& 2000ALLE | 102 34 36 25 26 31 33 17 9
5000 A S5 % | 1000 333 35.3 245 255 304 324 16.7 88
5000 A LA E 8 49 15 21 17 21 21 14 4 3
10,000 A i % | 1000 30.6 429 347 429 429 286 82 6.1
\ [EE 72 33 33 33 16 30 20 9 1
100004 ELE % | 1000 458 458 458 222 417 27.8 125 14
mEE 8 6 2 4 0 0 0 2 1 0
% | 1000 333 66.7 00 00 00 333 16.7 00
. 8 1 1 0 0 1 1 1 0 0
SO0ARH % | 1000 100.0 00 00 100.0 100.0 100.0 0.0 00
500 AL E ¥~ 12 2 5 4 1 6 2 3 3
750 Ak % | 1000 16.7 417 333 8.3 500 16.7 250 250
750 ALLE 8 9 4 5 4 2 5 5 0 0
1,000 A5 % | 1000 444 55.6 444 222 55.6 55.6 0.0 0.0
1,000 A L1 E 8 29 10 11 7 9 11 6 4 1
£ 2000A%E % | 1000 345 379 24.1 31.0 379 20.7 138 34
(| 2000ALLE 8 51 16 16 11 15 17 18 7 3
5000 A S % | 1000 314 314 216 294 333 353 13.7 5.9
5000 AL E 8 28 11 12 9 12 12 8 3 1
10000 A K525 % | 1000 39.3 429 32.1 429 429 286 10.7 36
N 31 59 29 28 27 14 27 17 8 0
10000451 % | 1000 492 415 458 237 458 288 136 0.0
WA 3 1 1 1 0 0 0 0 0 0
= % | 1000 100.0 100.0 00 00 0.0 0.0 0.0 0.0
B HH 10 3 4 1 4 1 4 2 1
SOOARH % | 1000 300 400 10.0 400 100 400 200 100
500 ALl E 8 42 10 12 13 9 15 11 11 3
750 AKiH % | 1000 238 28.6 310 214 357 262 26.2 7.1
750 N A E 8 30 9 11 10 9 9 12 4 2
1000 A K i# % | 1000 300 36.7 333 300 300 400 813 6.7
% 1,000 AL E " 67 21 23 18 11 23 23 10 6
b | 2000 A5 % | 1000 31.3 343 269 16.4 343 343 14.9 9.0
15 2000 A4 E " 51 18 20 14 11 14 15 10 6
5000 A i % | 1000 35.3 39.2 215 216 275 294 196 1.8
5000 A4 E 8 21 4 9 8 9 9 6 1 2
10,000 A 53 % | 1000 190 429 38.1 429 429 286 48 95
N i 13 4 5 6 2 3 3 1 1
100004 ELE % | 1000 308 385 462 154 23.1 23.1 71 77
mEE 8 5 1 3 0 0 0 2 1 0
% | 1000 200 60.0 00 0.0 0.0 400 200 0.0
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* 71128V TOXIZQIZOZELE=AIZRDFRBIZEZTHOoT-,

7—6. BB CIHRBES R REZRET S-OITITBBEFICEDI LI BEHESEEEAFT
M BTIFFEDLDELE TGEATEZELY,
@ FHRORME (REFOHHEORBELLL)
@ MHEHKEODHE
@ FFETHEBHEE
KRR
BASMEZORETIEDILFE
F-iamE oY
B 0 5T 1l FE D R ST
HEE - I—Y—0OEBRALO-ODOEFHKEE
Rk —453KY
ZDfth

®@©®eO®

] OFRORH|(OBHXBOD|QBRFETO (DMFIEN |OEFMES|O©H LM | OFRNHE|@HESE- |OFvr7— (0F0fh

REHRIHER sk |(RIEBIS |BE BiBH#E DEEHIED| <Y HIEDOHT |(1—F—0&E|IKY s

(FRR29. 275 ) HEOREL LT #mEnf-6H

%) DEFEY

o [ZE3 429 232 70 269 177 108 143 87 205 74 25 12
o TH2ER % | 1000 54.1 163 62.7 413 25.2 333 20.3 478 172 58 28
Hi . #4| 1903 1,052 326 932 391 250 409 283 635 187 135 158
2T % | 1000 553 17.1 49.0 205 13.1 215 14.9 334 9.8 7.1 83
o x5 190 112 33 134 89 70 85 45 102 42 8 4
| FR29ERE % | 1000 589 174 705 46.8 3638 447 237 53.7 22.1 42 2.1
5 5 3 539 317 95 283 142 101 163 96 217 70 38 36
2T % | 1000 588 176 525 263 187 302 178 403 130 7.1 6.7
- H5 239 120 37 135 88 38 58 42 103 32 17 8
ji FRL206EE % | 1000 502 155 565 36.8 159 243 176 43.1 134 7.1 33
a| mep | 1364 735 231 649 249 149 246 187 418 17 97 122
)RR % | 1000 539 169 476 183 109 180 137 306 86 71 89
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OFRORE|(QBHEOQ |OBRFETO (@DMRFIEN  |OEFRES|©F 4G (QF RN |@HEE Q@FyrT— |DZ0Hh
w187 Sk |(BEIBBIO (HBE BEHEE DREEHIED | 5<Y FIEDWL |1—F—DE[7 Y mEE
MmO REL ¥ BE LD
%) DEFEH
e Lisd 73 32 11 50 40 20 22 21 37 13 7 2
% | 1000 438 15.1 685 54.8 274 301 2838 50.7 178 96 2.7
s #k | 108 57 18 74 47 36 45 25 44 20 7 1
% | 1000 528 167 68.5 435 333 417 23.1 407 185 6.5 09
BR-HR-BME | 43 12 8 3 11 6 7 3 1 6 2 1 0
el STE 3 % | 1000 66.7 250 917 50.0 58.3 250 83 50.0 16.7 83 00
U i 29 19 5 16 10 8 10 7 15 7 3 1
i al % | 1000 65.5 172 55.2 345 276 345 24.1 51.7 24.1 103 34
N 8 24 15 9 18 12 8 8 7 14 6 0 0
B BEX | 0 | 000 62.5 315 75.0 50.0 333 333 292 58.3 250 00 00
= = 0 53 30 8 29 19 10 15 7 33 8 2 5
N ISR, TR % | 1000 56.6 15.1 54.7 358 189 283 132 62.3 15.1 38 94
P GE" 30 19 2 13 3 3 6 6 13 4 1 0
5 | ERR. RER % | 1000 63.3 6.7 433 100 100 200 200 433 133 a3 00
TEEL M | 4% 20 10 2 14 12 6 6 5 14 3 0 0
= % | 1000 50.0 100 700 60.0 300 300 250 70.0 150 00 00
ST, T | B8 37 17 5 15 16 3 16 2 12 6 3 2
| —Ex%E | % | 1000 459 135 405 432 8.1 432 54 324 16.2 8.1 54
[EREEN-/4- Lz 7 3 0 4 3 1 2 0 5 1 0 0
H—ERE % | 1000 429 00 57.1 429 143 286 00 714 143 00 00
EEREY—E | # 8 5 0 5 1 0 2 1 3 0 0 0
2 g % | 1000 62.5 00 62.5 125 00 250 125 375 00 00 00
. =4 22 14 4 17 6 4 5 4 7 3 1 0
ToEA% % | 1000 636 182 713 213 182 227 182 318 136 45 00
20k 8 6 3 3 3 2 2 3 1 2 1 0 1
% | 1000 50.0 50.0 50.0 333 333 50.0 16.7 333 167 00 167
o H8 33 15 6 28 20 16 16 10 21 9 1 0
% | 1000 455 182 848 60.6 485 485 303 636 213 30 00
- X7 79 46 16 55 36 28 38 18 35 17 4 1
% | 1000 58.2 203 69.6 456 354 48.1 2238 443 215 5.1 13
EBR-AR-EME | HE 5 5 1 5 2 3 2 0 2 1 0 0
i) STE 3 % | 1000 1000 200 1000 400 60.0 400 00 400 200 0.0 00
[ H8 11 8 1 5 4 4 3 2 6 4 2 0
fhHimiE % % | 1000 72.7 9.1 455 364 364 213 182 54.5 364 182 00
. L3 7 5 3 7 4 6 4 3 5 3 0 0
Tk, BER % | 1000 714 429 1000 57.1 85.7 57.1 429 714 429 00 00
= = X 19 12 3 11 9 4 7 3 15 3 1 2
N EIEE. MEX | o | 1000 63.2 158 57.9 474 2141 368 158 789 158 53 105
= 53 15 11 0 8 2 2 4 5 6 1 0 0
5 ERERBE | o0 | 1000 733 00 53.3 133 133 26.7 333 400 6.7 00 00
THEX. DR | 8% 7 4 2 6 5 4 3 3 5 2 0 0
= % | 1000 57.1 286 85.7 714 57.1 429 429 714 286 00 00
PHTEITE. T [ B8 7 3 0 3 3 1 5 0 4 1 0 0
|Fiiv—Ex% | % | 1000 429 00 429 429 143 714 00 57.1 143 00 00
[ER=E -1 4= iz 0 0 0 0 0 0 0 0 0 0 0 0
H—ERE % = = = = = = = = =
EFREY—E | #8 1 0 0 1 0 0 0 0 0 0 0 0
FENE £ % | 1000 00 00 1000 00 00 00 00 00 00 00 00
Yopr % 4 2 0 4 3 1 2 1 3 1 0 0
% | 1000 50.0 00 1000 75.0 250 50.0 250 75.0 250 00 00
Z0it HH 2 1 1 1 1 1 1 0 0 0 0 1
% | 1000 50.0 50.0 50.0 50.0 50.0 50.0 00 00 00 00 50.0
o 8 40 17 5 22 20 4 6 11 16 4 6 2
% | 1000 425 125 550 50.0 100 15.0 215 400 100 150 50
- 8 29 11 2 19 11 8 7 7 9 3 3 0
% | 1000 379 6.9 655 379 276 24.1 24.1 310 103 103 00
BER-HR-BM | B 7 3 2 6 4 4 1 1 4 1 1 0
o ST 3 % | 1000 429 286 85.7 57.1 57.1 143 143 57.1 143 143 00
U x5 18 11 4 11 6 4 7 5 9 3 1 1
iiat % | 1000 61.1 222 61.1 333 222 389 2738 50.0 16.7 56 56
N HH 17 10 6 1 8 2 4 4 9 3 0 0
Tk, BER % | 1000 58.8 353 64.7 474 11.8 235 235 52.9 176 00 00
= . X 34 18 5 18 10 6 8 4 18 5 1 3
% BIFESR. MR 1;/;& 1000 52.9 147 52.9 294 176 235 11.8 52.9 147 29 88
- 15 8 2 5 1 1 2 1 7 3 1 0
é ERE.REE | o0 | 1000 53.3 133 333 6.7 6.7 133 6.7 46.7 200 6.7 00
THEX. V& | 5% 13 6 0 8 7 2 3 2 9 1 0 0
&t % | 1000 46.2 00 615 538 154 23.1 154 69.2 7.7 00 00
FHTET. M- | B8 30 14 5 12 13 2 11 2 8 5 3 2
|Ftiv—Ex% | % | 1000 46.7 16.7 400 433 6.7 36.7 6.7 26.7 16.7 100 6.7
TERE. B H% 7 3 0 4 3 1 2 0 5 1 0 0
—EZR % | 1000 429 00 57.1 429 143 286 00 714 143 00 00
EFEREY—E | B8 7 5 0 4 1 0 2 1 3 0 0 0
FEN -t E3 % | 1000 714 00 57.1 143 00 286 143 429 00 00 00
. x5 18 12 4 13 3 3 3 3 4 2 1 0
yER% % | 1000 66.7 222 722 167 16.7 167 16.7 222 1.1 56 00
Z0H Lz 4 2 2 2 1 1 2 1 2 1 0 0
% | 1000 50.0 50.0 50.0 250 250 50.0 250 50.0 250 00 00
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OFHRORE|OBHEOD |QRFIETO (DRFEN |OEFMEF|©H 4TS |(OFHNHE|@HBEEL—(@rvb7— |0OZ0

=p= B®E BBHE DEEHFED KV HEOHT (Y—0EHA|IKY )
FEER 2 preig LD EEIES
% 11 6 3 8 2 1 2 2 : 4 2 2 0
SOREFIAH | o6 | 1000 545 273 72.7 182 9.1 182 182 364 182 182 00
50fEMLIE | #% 17 10 5 12 6 3 4 3 6 4 0 0
10048 [ 5 7 % | 1000 588 294 706 353 17.6 235 176 353 235 00 00
100fEMLE | 8| 100 56 11 51 29 11 21 12 41 10 5 3
50018 [ 5 i % | 1000 56.0 110 51.0 290 11.0 210 120 410 100 50 30
500fEMLLE | #3K 71 31 11 42 25 12 16 9 29 3 5 1
& |1.000{8 1 % i % | 1000 437 155 59.2 35.2 169 225 127 408 42 70 14
EH[1000BAUL | HEk | 124 57 12 80 50 33 44 23 61 19 6 5
5000{% [ 5k 5 % | 1000 46.0 9.7 64.5 403 26.6 355 185 492 153 48 40
5000MLLE | #%k 24 18 8 18 13 11 12 8 11 5 0 2
1k % | 1000 75.0 333 75.0 54.2 458 50.0 333 458 208 00 83
Sk H# 74 48 18 54 48 35 40 27 49 27 7 1
TkmLL % | 1000 64.9 243 730 64.9 473 54.1 36.5 66.2 365 95 14
mEE i 8 6 2 4 4 2 4 3 4 4 0 0
- % | 1000 75.0 250 50.0 50.0 250 50.0 375 50.0 50.0 00 00
SOMEMER #tf& . 0 . 0 . 0 . 0 . 0 . 0 . 0 . 0 _ 0 _ 0 _ 0 _ 0
S0fEMLLLE | ## 0 0 0 0 0 0 0 0 0 0 0 0

1001‘%‘ H iﬁ % - - - - - = = = = = = =
100fMULE | #E 17 11 2 10 4 2 6 2 8 2 1 0
50018 [ 5k i % | 1000 64.7 11.8 588 235 11.8 35.3 11.8 471 11.8 59 00
£ soofEmuIE | 4% 16 6 1 8 2 3 5 4 6 0 0 0
15 |1,000{8 [ ki % | 1000 375 6.3 50.0 125 188 313 250 315 00 00 00
1000fBALLE | #% 80 40 9 54 34 24 31 13 40 15 2 2
500018 [ sk 52 % | 1000 50.0 113 67.5 425 300 3838 163 50.0 1838 25 25
5000fEALLE | H% 18 14 6 15 9 10 10 7 8 4 0 1
13k % | 1000 718 333 83.3 50.0 55.6 55.6 389 444 222 00 56
Sk T L L~ 59 41 15 47 40 31 33 19 40 21 5 1
TR % | 1000 69.5 254 79.7 67.8 52.5 55.9 32.2 67.8 356 85 1.7
; Lis 11 6 3 8 2 1 2 2 4 2 2 0
SOEMAE | "o | 1000 545 273 72.7 182 9.1 182 182 364 182 182 00
S0fEMALLLE | 3 17 10 5 12 6 3 4 3 6 4 0 0
100{8 [ ok 3% % | 1000 58.8 294 706 353 17.6 235 17.6 353 235 00 00
100fMULE | #E 83 45 9 41 25 9 15 10 33 8 4 3
5001 [ 5k i % | 1000 54.2 108 494 30.1 108 18.1 120 398 96 48 36
ge | SOOEFLLE | #3 55 25 10 34 23 9 11 5 23 3 5 1
"t |Loo0fE MK % | 1000 455 182 618 418 164 200 9.1 418 55 9.1 18
ig | 1000 ML H8 44 17 3 26 16 9 13 10 21 4 4 3
500018 [ 5k 52 % | 1000 386 6.8 59.1 364 205 295 227 47.7 9.1 9.1 6.8
5000 LLE | #%k 6 4 2 3 4 1 2 1 3 1 0 1
1k % | 1000 66.7 333 50.0 66.7 16.7 333 16.7 50.0 16.7 00 167
Jerm s B8 15 7 3 7 8 4 7 8 9 6 2 0
i % | 1000 46.7 200 46.7 53.3 26.7 46.7 53.3 60.0 400 133 00
EES L% 8 6 2 4 4 2 4 3 4 4 0 0
i % | 1000 75.0 250 50.0 50.0 250 50.0 375 50.0 50.0 00 00
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OIEFRORH|(QBHEO O |QBRHETO |DRFEN  |OEFNME S |(©FH-4HE |(OFHENTM|@©EEFEL—|QrvbT— |0Z0f
pre =y % BBiE DREHIED| <Y HEDHT |F—OFEHRE|7 Y pe
wEaHA 2 o g EE
L4 11 6 2 6 3 1 3 0 : 3 0 1 0
S00AKH % | 1000 54.5 182 54.5 213 9.1 213 00 213 00 9.1 00
500ALLE | 4 54 28 5 32 19 11 17 6 28 9 3 2
750 A S i % | 1000 519 9.3 59.3 352 204 315 1.1 51.9 167 56 37
T50ALLE | 39 19 6 19 14 7 8 10 18 5 2 1
1,000 A ki % | 1000 487 154 48.7 35.9 179 205 256 46.2 128 5.1 26
1000ALLE | #h8 96 48 14 59 32 16 29 15 37 7 8 3
& | 2000 Ak % | 1000 50.0 146 615 333 16.7 302 156 385 73 83 3.1
it 2000AE | ##| 102 49 15 63 37 24 28 17 48 16 3 5
5000 A S % | 1000 480 147 618 36.3 235 215 16.7 47.1 157 29 49
5000 A LLE L 49 35 12 34 24 20 21 17 24 14 2 0
10000 A ki % | 1000 714 245 69.4 49.0 408 429 34.7 490 286 4.1 00
. xS 72 44 16 53 47 29 34 22 44 21 6 1
10000ALLE % | 1000 61.1 222 736 653 403 472 306 61.1 292 8.3 14
wES Lis 4 6 3 0 3 1 0 3 0 3 2 0 0
- % | 1000 50.0 00 50.0 167 00 50.0 00 50.0 333 00 00
. HH 1 0 0 0 0 0 0 0 1 0 0 0
S00ARKH % | 1000 00 00 00 00 00 00 00 1000 00 00 00
500ALLE | 12 7 1 8 2 3 6 1 10 2 0 0
750 A K i % | 1000 58.3 83 66.7 167 250 50.0 83 833 167 00 00
T50ALLE | #E 9 5 2 7 4 4 3 2 2 1 1 0
1,000 A i % | 1000 55.6 222 778 444 444 333 222 222 1.1 1.1 00
1000ALLE | #8 29 13 2 18 10 7 14 4 10 2 1 2
£ 2000 A%iH % | 1000 448 69 62.1 345 24.1 483 138 345 6.9 34 6.9
% 2000ALLE | #% 51 28 5 31 18 14 16 11 25 8 1 1
5000 A\ ki % | 1000 549 9.8 60.8 353 215 314 216 490 157 20 20
5000 AL | ## 28 21 9 22 16 15 13 8 15 10 1 0
10000 A K % | 1000 750 32.1 78.6 57.1 536 464 286 53.6 35.7 36 00
N G5 59 38 14 48 39 27 33 19 38 19 4 1
10000ALLE % | 1000 644 237 814 66.1 458 55.9 32.2 64.4 322 6.8 1.7
mEE i 1 0 0 0 0 0 0 0 1 0 0 0
- % | 1000 00 00 00 00 00 00 00 100.0 00 00 00
- HH 10 6 2 6 3 1 3 0 2 0 1 0
SOOARH % | 1000 60.0 200 60.0 300 100 300 00 200 00 100 00
500ALLE | #E 42 21 4 24 17 8 11 5 18 7 3 2
750 A K i % | 1000 50.0 95 57.1 405 190 26.2 119 429 167 7.1 48
T50ALLE | 30 14 4 12 10 3 5 8 16 4 1 1
1,000 A i % | 1000 46.7 133 400 333 100 16.7 26.7 53.3 133 33 33
ge| 1000ABLE | #8 67 35 12 41 22 9 15 11 27 5 7 1
b | 2000 A %5 % | 1000 52.2 179 61.2 328 134 224 16.4 403 15 104 15
ig| 2000ABLE | #HK 51 21 10 32 19 10 12 6 23 8 2 4
5000 A\ i % | 1000 412 19.6 62.7 373 19.6 235 118 45.1 15.7 39 78
5000 A LLE HH 21 14 3 12 8 5 8 9 9 4 1 0
10000 A ki % | 1000 66.7 14.3 57.1 38.1 238 38.1 429 429 190 48 00
N 8 13 6 2 5 8 2 1 3 6 2 2 0
10000ALLE % | 1000 46.2 154 385 615 154 7.7 23.1 46.2 154 154 00
EES i3 5 3 0 3 1 0 3 0 2 2 0 0
- % | 1000 60.0 00 60.0 200 00 60.0 00 400 400 00 00
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